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01.

01.

02.

02.

03.

HHRI® &dT U&0T/ MENTAL ABILITY TEST

g frdfl €R gRT fardl! Hg BT gk 40 % dh 3R TIATT 20 % HH 61 S1aT § o 39
S BT Hol Uid=Id o1 gRT?

1. 54%
2. 52%
3. 40%
4. 60%

If a store reduces the price of an item by 40% and then by 20%, what is the total percentage
reduction of price?

54%
52%
40%
60%

P owpnRE

gfe g1 SiUSht quishdl (Tethlacd) Bl Sec oHH H foRd df 139 R TR IF T 31&R T ?

A WN PR
r2z2©

If we write English alphabets in reverse order then which alphabet will appear at thirteenth
position ?

A wbdeE
rZzZ20

fAafeiaa & § &9 91 2eg TEALS & AT &1 JAMRIS BRT?

SLOW
MINIMUM
ANGRY
DARK

o



03.

04.

04.

05.

05.

Which of the following is a synonym of an anagram of the word TEALS?

HOT
MINIMUM
ANGRY
DARK

& fagsarsii A, B 3R ¢ 7 o dfaer (@idde) & fofg U 40 TRT, 45 ARI 3R 50 ARG
U Iy (Pic) forar fohg ardf (FMTRITRM) $3 IR 3 HHT: 10%, 20% 3R 30% P Be
3 BT IoN B W 3

A 3R B M ¥4 ¥ gfaeuelf (Gudifeq) & fahg ¢ 379 &9 ufawaelf a1

A 3R ¢ I ¥ 1 § gferaelf @udifeq) & farg B 379 &0 ufaeae i

A T i ufaeaeff (@udifea) u1aur B iR ¢ IHH ¥U I fhg A ¥ &0 ufawadf g
A 3R B 9 ®U § ufergeff @udifeq) 2 farg ¢ 379 sifies ufawaelf o)

obhpRE

P w e

Three vendors A, B and C quoted Rs. 40 lakh, 45 lakh and 50 lakh respectively for a contract
but upon negotiation were prepared to give discounts of 10%, 20% and 30% respectively. With
that,

A and B were equally competitive but C was less competitive than them
A and C were equally competitive but B was less

A was most competitive and B and C equally competitive but less than A
A and B were equally competitive but C was more competitive than them

R U U 3-fiFe 3R T 5-fiFe s1ersmR g | afe §uw 318 &1 3t 1 fiFie a& Iara
T7g, a1 3 fFe &1 TR & J HH fam! aR A1 H=A1 g2

el O

B W N
B wWw N

I have one 3-minute and one 5-minute egg timers. If | want to boil an egg for exactly
1 minute, the minimum number of times the 3-minute timer has to be started is

B W N
B wWw N



06.

06.

07.

07.

08.

feaffed i I s g e ?
1. (1012)2% > 2023
2. (2023)!%2 > 3036!
3. (1012)122 > 2025
4. (2023)%% > 40471

Which is correct in the following?

(1012)2°% > 2023
(2023)122 > 3036!
(1012)1022 > 2025
(2023)22% > 4047

TS ST H o) a1d Tie, &1 g3 TG auT &l =il 7 § 1 T ard g 31 1 Uifiicear o1 87

M owbdRE

NIRAIRAIRWIR

R

A box has two red balls, two green balls and two blue balls. What is the probability of drawing
a red ball?

M wonhpoE

NIRAIRA|RWI|R

S UIRY <X’ 3R Y’ Th b Bl HHT: 10 3R 15 Ul H WR Fobd & | TS T UTeul b1 T

fear S @Y A 39 S ! fopd gl A WR 3
1. 12
2. 6
3. 15
4. 5



08.

09.

09.

10.

10.

Two pipes ‘X’ and ‘Y’ can fill a tank in 10 hours and 15 hours, respectively. If both
the pipes are open, then in how many hours will it take to fill the tank?

12
6
15
5

I8 DH I Ta BT T=AT & SR 675 B 0N FHrA IR IHT OHHA JUl g9 ghTT?

M owbdRE

B W DN
g b~ N

What is the smallest number by which 675 must be multiplied so that the product is a perfect
cube ?

B W N
o b~ N

IS DI Y41 UTa: 10:35 T fbaq fSUt &1 o7 s § 2

72.5°
97.5°
107.5°
117.5°

Howobde

What degree of angle is made by the hands of clock at 10.35 AM?

72.5°
97.5°
107.5°
117.5°

Hobdhde



11.

11.

12.

12.

13.

A forlt B &1 25 &1 o R Tahall &, B S B &1 20 Al A HR AT g1 ATUT B GHI A
I B DI 5 &A1 b BT 3R TULATT A T DI BISHR I 7| B 3F 39 B DI T
B | fova T e »

15 fad
11feT
18 faA
9 fad

P w e

A can do a piece of work in 25 days and B can do same work in 20 days. Both A and B works
together for 5 days and then A leaves. In how many days B will take to finish the work?

15 days
11 days
18 days
9 days

fAfafRad vsal &1 Teqd IR (FSaRMRY) & GUIhHIIAR HaRYd B |

A. Convert B. Convex C. Connect D. Convent E. Convict

P owpnRE

> wbh P
OO0 00
O0O0O0
> mm 3>
muow > W
W > m

Arrange the following words according to dictionary order.
A. Convert B. Convex C. Connect D. Convent E. Convict

AW R
OO 00
O O OO0
> mm >
mm > W
> wm

fEfaRed SRS & S 1 S1&R g URAATaS 78 &1 Ui B ?
Fl, HL 2  LP, NR

JM
JN
GN
IN

Hobdhe



13.  Which pair of letters will replace the question mark (?) in the following series?
FJ, HL, 2, LP, NR

M
JN
GN
IN

14.  faww (@Od) e B A |

M owbdRE

A W0 DN
)%

14. What is the odd one out?

Thyroxine
Insulin
Adrenaline
Hormone

15. T R A U & U B I srerT-sren fRufaat fears S § 1 98 e g S Wenn 1 g
& faURid Tde TR s TS &1 ?

HONECG

P owpnhRE

o
o 3¢ I N3t



15. Three different positions of the same die are shown below. Select the number that will be on
the face opposite to the face showing the number “1°.

B

howphRE
o 0o~ w

16. HRd P &I TSI CSIR Td ISRO & R # FAHAfifad # 9 &IF &1 U T8t 8 ?

G H 1°'s T ¢ fhd Rs ST €|
g R’SW%%I’S T g
G HR’s 3R I's TAF g
A A RS 3R I’s &I?FT%"I

M w N e

16.  Which of the following is true for CSIR and ISRO, two organizations of India?

Both the I’s are same but R’s are different.
Both the R’s are same but I’s are different.
Both the R’s and I’s are same.

Both the R’s and I’s are different.

17, Frefia fm e Bye &

Mo RE

A X
N

10
11
12

M owbdpe



17.

18.

18.

19.

10

How many triangles are in the following figure?

A X
| N

11
12

TR U USB YT PSL TICH a1 &1 ey SUas §, Th RMT HUIeR o dhad PSL
U1 § a1 T =191 Huex forH dhad USB UIcH ¢ | afe §HR U 2- PSL ®1-818 31 2-
USB P11 g, dl AR (FFRaU) Pt JuTfad Tveam om giifte

Mo

PobdE
© A~ w

24

There are two computers with both have USB and PSL ports and one old computer with only
PSL ports and one new computer with only USB ports. If there are 2 PSL  keyboards and 2
USB keyboards, then the number of possible configurations is

PwbdPE
© A~ w

gfe i U A I Ud BT fed JUaR U1 Y 31 a1 Sl o 9l BT fo 1 gITI?

IAfaar
HaR
AR

CRESIGEIN

> w b e



11

If the day before yesterday was Wednesday. Then what will be the day after
tomorrow?

Sunday
Monday
Tuesday
Thursday

fRaferaa & fawm = g7

fhammm
UG d

TR
HI

A

P w e

What is the odd one out?

Kilogram
Pascal
Ampere
Angle

TH CAidpIH HUT, AIaTSd [9d IR 15% B Fe Gl ¢ TG [o0d I Iqd! e ¢ (¢d fafdy 1
Ugd b1 &1 OfdT § | Uh et &1 B, 24/- B FT U g3 | SUD dRdad fod Hi ARy
IR

Howobde

2. 360/-
2. 160/-
2. 260/-
%. 60/-

M w bk

Telecom company gives 15% discount on mobile bill, if it is paid before the due date.
One customer gets Rs.24/- discount. What was the amount of actual bill?

Rs. 360/-
Rs.160/-
Rs.260/-
Rs. 60/-

o



22.

22.

23.

23.

24,

12

I8 G §aTt o 11 IR I H SIS WR 156 3T g

11
12
13
14

M owbdRE

The number, which when added to itself 11 times gives 156 is

11
12
13
14

17 4RI T A 7T 9 FeR) o7 id (FHHIGR H1ed) 15§ a7 3ifaH 9 FaRl &7 3 d (GHHR
men10 g1 afe Tt 17 FaR1 BT Sia (THETAR )11 gt AdT e a1 gty

M owbdRE

16
27
38
49

howphRE

Out of seventeen numbers, the arithmetic mean of the first nine numbers is 15 and the last nine
numbers is 10. If the arithmetic mean of all the seventeen numbers is 11, then what is the ninth
number?

16
27
38
49

frefad o @ & 91 wee 3ife a9 (38 § 2

ST HARH
AfSTCA (&= @)
gfem
FRIFRT (= 777

el A

P w e



24,

25.

25.

26.

26.

13

What is the odd one out?

Data Collection
Meditation
Painting
Singing

Teb U TSN B g A 3o Uah, $o UBEiA tha gareiT iR 6 91 o (UB) T
e TR T HIfeies &1 Aiferd &d gU 20 RR U7 16 U IS § a1 d81 Hig 3 ghx

obhpRE

(HIIR) T81 € ol USe- Sl b e 1 gri?
1 0
2 1
3 3
4. 4

A pet shop has some birds, some French bulldogs without tails and 6 sword tail dogs. If the
store has 20 heads including the owner and 16 tails and has no workers, the number of tailless
dogs is

B W N
H~ W -, O

d S AN BT J9g Ay ] S1fAad © U J (st Hal fHerdT g af Sruame fHe
B a1 g1 3Fu=nRes e &) e &) 18 uffufal § Ted 3T Ie1eR 87

o, AR (gmr), T Tehd B4 & foIe 3o us iRl &Y U Bl B
T2 T ST HRA & 16, JRO! 307 3 T B w1 qHIfed & u=and feR
o fore @ | (WIS

3. UYMER A $H&l TS ®I U U O 5 d 999 & ([$9)

UATd ¥ | BTl
4. YIS HE & UUH YHAR B GIUER & 918 Thd HIST e &1 96 8l ¢

An informal gathering occurs when a group of individuals get together casually for relaxation.
Which situation below is the best example of an informal gathering?

Alexa gathers her neighbours to collect donations for a charity.

After joining the new job, Suraj took a few colleagues for a quick dinner after work.
The principal asked all the class teachers to stay after school for an emergency drill.
The school coding club meets on the first Friday afternoon of every month.

PophdPRE



27.

27.

28.

28.

29.

29.

14

FHu FAfRad g & R B | T AdT o T ... & g1 3§ ebdl” |
1. e Pl

2. gudel

3. e

4. A

Complete the sentence. “A LEADER could not exist without

Debating
Followers
Running
Swimming

U1 AEfRId aT BRI B < ... o for T P13 [aTTerd &1 Sifda 181 g1 Joar |

P
FARTEH
fafearag
CrRats|

Howbde

M w bk

Complete the sentence: A SCHOOL could not exist without

Canteen
Classroom
Clinic
Courtroom

el

A W DN

Complete the sentence: A PARK could not exist without

Captain
Cardiologist
Children
Cook

PobhdPE



30. A A& faRIwdref & YR R FH=faRad fom &1 i a7l o I9giepd H|

M wbhpE

30. Group the following figures into three classes on the basis of identical properties.

Hwbh e

159,
126,
159,
129,

159,
126,
159,
129,

248,
347,
247,
457

248,
347,
247,
457

15

N

1

[]

4

367
589
368
368

N

1

[]

4

367
589
368
368




31.

31.

16

X

%

e

(A)

< fReu e o (A) 3 96 R 3T (gdor Bfa) B g |

S

xS

"

%

e

(A)

Choose correct mirror image of the given Fig. (A)?

S

xS
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32. 59el (BuUey) # ufedl & 71 ToidT, fheHT, SR 3R TsfaAr g1 ufd v uel H &l &b U
Y 3R SRR g1 IS Tabs &) Uch) foRe1 8, §id & Uelt Sec] 9T Tsas & Ueit
TSI T8t g O e 3R SiHTes Pt uferdl o1 A/H g |

ToTdll Ud SRl
TSaA1 Ud SRl
ToTdll U4 TSaT

S CEIRCRUTK

P w e

32. Among 5 couples the wives’ names are Angela, Christina, Darla and Edwina. In exactly 2 do
the husband and wife share the same initials. If Alfred’s wife is Christina, Bob’s is Belty and
Edward’s is NOT Edwina, then Charles and Donald’s wives respectively are

Angela and Darla
Edwina and Darla
Angela and Edwina
Edwina and Angela

howphRE

33. fUed IR aul & foew! &1 718 axgsl & I &l - fau e o & fear mar g

2020 2021 2022 2023

2000

Units Sold

10040

Year

FERfea A AP AT HUT TG 8°

1. dY2020 9 2023 O foeh! H g3 Ufa=Id S, 8 2021 F 2022 H 8 UfRd gfa &
T B
Uzd oR auf & $o ! Bt 718 SHTITT B TJAT 6000 B |

3. fomt o eiftiead aRkadH 2022 § 2023 o &9 ol

4. 992020 H qeN HH foh g3
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33. The number of units of item sold over 4 years are plotted in the graph given below.

/

2000

Units Sold

10040

2020 2021 2022 2023
Year
Which of the following is true?
1. The percentage decreases in sale from year 2020 to 2023 is same as the
percentage increase from year 2021 to 2022.
2. The total units sold are 6000 over 4 years
3. The maximum change in sale occurred between the years 2022 to 2023.

4. The year 2020 had the least sale.

34. T9d YHTR Y firoH & WRIadf wag § e ifofd g ard 1 & faumia giar g ot
fAfeRad o 9 e 1 &1 UHTT 34T Uapifora gy

offef

=1
Gl

ST

M w b e

34. White light beam incident on a refractive surface of a prism it gets dispersed in seven colours.
Which of the following colours will disperse more?

1. Red
2. Green
3. Blue
4, Violet



19

35. i fau U fo ® ot (FFamR) Bt Hd TS B O Y|

HowbdhRE
© o ~

35. Count the total number of squares in the following figure?

HowbdRE
© o ~

10

36. Qo WM T 39 fdeey & W o Refafed #9993 8 9% - “THE NUMBER OF
INSTANCES OF THE LETTER S OCCURRING IN THIS SENTENCE IS &

FOUR
FIVE
SIX
SEVEN

HownPRE



36.

37.

37.

38.

20

Choose the option to fill in the blank with that would make the following statement correct:
“THE NUMBER OF INSTANCES OF THE LETTER S OCCURRING IN THIS SENTENCE
IS~

FOUR

FIVE

SIX

SEVEN

g 9 BT AT 18 BEATSHT 3R U U B! 4 IS AT BRI H W7 o1 6, fob B IR
BT T 1 TH 1Y HH VIR IR Ghd & AR Dis faeneff, sieamues & Ty H Ry MR
T8I B bl al I fold HH A HH fha HHR Db TIRIDH T gIIt?

M owbdRE

Howbdhde
© o ~

10

If 9 boys and 18 girls and a teacher are to be accommodated in some 4 —bedded  rooms,
but boys and girls can neither share rooms nor any student with the teacher, the minimum
number of rooms required is

HowbdRE
© o ~

10

600 T3 (SHTeotaed) | T 200 T A T H&fd g1 AV I A B 3R C A THH ®I I
favTiora fopam wa B1 fr=foriRaa & 9 oF w1 uis-are 39 faavun (Fexdiemm) &1 98t &4

B g
J B
RS>
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38. Out of 600 objects 200 belong to class A. Remaining are equally divided into class B and C.
Which of the following pie-charts depicts the distribution correctly?

-
N

A
y2

A B A R
3. 4.
%

39. MALALA & 9 ¥ fafRre ﬁﬁ‘l@'@[ (unigue palindromes) CARSEE] %z

%
al
LlEl

EIN

M w bk

39. The number of unique palindromes in the name MALALA is

One
Two
Three
Four

el

40. 3D (ORE) BT WM (MINES) T I8 IaY & Sl dbal BT ... AR

SU]
ERiEny
YA
<D

P w e

40. ORE isto MINES as WOOD is to

FORESTS
FURNITURE
FUEL
TERMITES

PophdPRE



41.

41.

42,

42.

43.

22

6 fdd TP A & IRI 3R THH g3 W d6 & | fe Tewhl, el & 31 aTs 3R 961 §
T 3R Seel U gOR & [AuRid 96 & o) fFAHfiRad Siis! (UaR) H &F Uh gIR & A5
1S 9SS 8! 93 Thd?

Teth] U4 Seel
waRiai- Td dter
CIERCEIIE]]
dter ug dter

P w e

Six persons are sitting equidistantly around a table. If ALPHA is immediately to the
right of BETA, and GAMMA and DELTA are sitting opposite each other, then which
among the following pairs CANNOT be sitting side by side?

ALPHA and DELTA
EPSILON and THETA
BETA and GAMMA
BETA and THETA

howphRE

fpdt o I R, g, W@, UHIRT, g’ 3R SET & U R st HH:
STHTRT, THIRT, AR, e 3R Gt § | a8t Pis T g1 < & fuweme

A W N R

gt

On another planet, the local terminology for ‘earth’, ‘water’, ‘light’, ‘air’, and ‘sky’ are ‘sky’,
‘light’, “air’, ‘water’ and ‘earth’ respectively. If someone is thirsty there, what would he drink?

Light
Air
Sky
Earth

A BT URRAT T I el ey g o @ hT ... |

v
Heae

wfesHT
feeTg

o RE

el S -



43.

44,

44,

45.

45,

23

TEETH isto PYORRHEA as EYE is to

BRONCHITIS
CATARACT
ECZEMA
TETANUS

Ueh <l b1 ST 6 I & | g1 b1 &bl ot AT H -1 §ITT?

obhpRE

9 12
36 w2
On

36n

M owbdRE

The diameter of a circle is 6 cm. What is the area of circle in sg. cm ?

9 12
36
On

36m

ST HFR & URWR (HT) H Fiermg (@feeny) iR IR w3 T | g1 3@ A
TR Ug YA 80 § | Safh I Il (GFoT) bt TWAT 200 8 | ITH F v o1 T faat
g7

A

20
30
40
50

i

II'T Kanpur has a number of NILGAI (antilop) and Peacocks in the campus. By counting heads,
the total number is 80. While the number of their legs is 200. How many NILGALI are there?

20
30
40
50

o



46.

46.

471.

47.

48.

24

FUYT  (A): 3P FHAR R T T F9YIH (SISl WiEe) HH gidl g
(R): 31 S8 WR TR0 gTe (TeHRG NG URR) i A 8T g |

ATT g fhg R ST
R I g fhg A 39
A SRR EH I §

A 3R R GHI 3A §

M w bk

Assertion (A): At higher altitude the boiling point of water is less.
(R): At higher altitude the atmospheric pressure is also less.

A'is true but R is false
R is true but A is false
Both A and R are true
Both A and R are false.

gfe U q1-3ip 1T (G1-fSfie) T H 18 ol Siis fear 9ie oY T2t It 81 ot & | afe 59
-3 ()-fefoTe) 1N 12 3, Y I8 T o gifi?

Mo RE

39
48
57
84

el A

If 18 is added to a two-digit number, its digits get reversed. If the sum of the two-digits is 12,
then the number is

1. 39
2. 48
3. 57
4. 84

3T JUiATeT & WERT (@lded) W ¥ Ud 3H&R & 38U (Aefd®) I foar il e & g
M &t Rdar (Mafaferd) s grf?

EREEIIE

W bpoE



25

48. Out of vowels of the English alphabets, one letter is selected at random. The probability of
selecting ‘e’ is

mlH-thgl_hgl,_\

A wobhoe

49. J22v2 ... &AM () T P

el
P N A

49. Find the value of 1/2\/ 2V2 .

1. 8
2. 4
3. 2
4. 1
50. Tf& a”+ b? =128 Tlab = 32, A L2 =
1. 1
2. 3
3. 5
4. 7
50. Ifa?+ b% =128 and ab = 32, then &2 —»
(a-b)?

Hobdhe
~N 0w e



51.

51.

52.

52.

53.

26

T TRIAT el (e, FSorgent 18 ¥gag (B r: dur Hiad Bsan ¢ | &1 3madq
CIRGERIRUIE

%n(R —1)3
grt(R3—r3)
grt(R3—r3)
gn(R3—r3)

R

The volume of the hollow sphere (shell), whose outer radius is ‘R’ and inner radius is ‘r’, is

gn(R -7r)3

érr(R3—r3)

grr(R3—r3)

%T[(R3—T'3)

> w0 e

I, 301 T A AT FST | | IR aY Ugd 98 3101 ¥ IR AT ST AT| 4T 31« fpa ay &1
a7

24 99
30 99
36 99
42 Y

A ke

Ravi is three times as old as Arun. Four year ago, he was four times as old as Arun. How old
is Ravi now?

24 years
30 years
36 years
42 years

A

+ faU TN Tsal & o H &) TG Dh IR (FSHRMRY) & HTAR IR By

A. Krishnamurthy B. Krishanmurthy C. Krishnmurthi

ABC
B,C, A
C,AB
B,AC

e A
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Arranged the order of the following words according to the dictionary:
A. Krishnamurthy B. Krishanmurthy C. Krishnmurthi

A B, C
B,C A
C,A B
B,AC

[ERAURICERIRIEACEI U

. e UR
. ST T S
gXRId UisRIc
RIESEIE]

A

Mo N e

Select the odd one out?

Harry Potter

Jagadish Chandra Bose
Hercule Poirot
Shaktiman

19 100 d Pt e fora & T&=AT 9 fhamt IR 3Tt 87

18
19
20
21

N -

A wnhE

How many times does the digit 9 appear in writing down the numbers from 1 to 100 ?

18
19
20
21

g - praixg, xpraf+ g + BT 3f - R -pr3f =g A

15x4+5— 2+4 = BT T (37 FTI?

A

e
© o ~



56.

S7.

S7.

58.

58.

28

If + means x, x means +, + means —, and — means +, then find the value of
15x4+5- 2+4 =7

1. 7

2. 8

3. 9

4, 10

A-TSITG B- 3 C-JAeMSd  D-TRm E-des

fAefeiad & § o9 HHAR (in order) 8?

CADBE
ACBDE
CABDE
ACBED

e

A-Chandigarh B-India C-Rock Garden D-Asia
Which of the following is in order?

CADBE
ACBDE
CABDE
ACBED

e

2_ _ 2
(1947+2024)2—(1947-2024) WWW%?

1947%x2024+2024X1947

A WO DN -
A WO DN -

f (1947+2024)%—(1947-2024)2
1947x2024+2024x1947

What is the value o

o
B WN R

E-World



59.

59.

60.

60.

61.

29

TH 3 (Fga) & forw 25 TS 3R dsfewal &1 5 % 5 %W(qﬂﬁm)ﬁr@am%l
g Ul T foh Ude U iR Ud® piaH H HH I HH Th dgH! g ANfeU| dsfpal
o T Ay IR R gty

1. HAIAHI6
2. HHIYHHA21L
3. SifeFHan 21
4. o fHeDHR 25

For a drill, 25 boys and girls were to be arranged in a 5 x 5 formation. It was found that each
row and each column had to contain at least one girl. It can be concluded with certainty that the
number of girls was

at least 6
at least 21
at most 21
all 25

HaT BISel T T gl ey g o BT ol .........

Ryorfeal @
el
Al
difeat

A

A ke

Building is to Bricks is as Army is to

Soldiers
Horse
Doors
Stairs

e

Y M9 IRR F AR (@) S YeaT | ........

qe
CUIR]

> w b e

Pl
EpIC



61.

62.

62.

63.

63.

64.

Human Body is to Veins is as Sundarban is to

obhpRE

& =TS BT OFHA 3025 3R ST TARITH (LCM) 25 & | ST TIRi® (HCF) I1d

P

e

The product of two numbers is 3025 and their LCM is 25. Find the HCF.

HowbdhRE

el A

For the term ‘IPL-T20’ the most suitable word can be

o RE

AR IS 2, X, V, T2, 2 & qUIHTEAT B AT G 3H&RY B 914 |

R A

Tourism

Bengal

Summer
Mangrove Trees

111
131
121
141

30

arg
e
FAD
S

Vehicle
Match
Clinic
Desk

S, Q
R, P

Q0
S,R



64.

65.

65.

66.

66.

67.

Find the next two letters of the alphabet in series Z, X, V, T,?, ?

e

AT (3H1S T) Teq BT T B

A ke

Select the odd one out.

A

AT U9 e T Y e W oI 1 37§91 87

el A

Mixing of red and blue colours creates the colour

Hwh e

Cricket
Hockey
Football
Squash

ST
CIS||
TR
=

Purple
Yellow
Orange
Green

N

SUd SIS &l §dTU |

A W NP

. T
. °oH
. 96&

Bl

SR
Gaver
3egef
foemff

31
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67. Select the odd pair.

68.

68.

69.

69.

1. Army . General
2. Team :  Captain
3. Meeting : Chairman
4. Class : Students

T Afd ®Ig & SMILE &1 UOKNG ST forar SiTdr 81 af 39 &I H MOTION & fbg
OhR foram Sam?

NPUJPO
LNSHNM
NPUJPO
OQVKQP

A e

In a certain code SMILE is written as UOKNG. Then what will MOTION be written is in that
code?

NPUJPO
LNSHNM
NPUJPO

OQVKQP

A

UH a1 forenT 48 Sak-Ud o= H § aaldhaigsl (Gls 3MR) 2250 gH ST 8, 3R 39® alg
180° TR YH ST 8 | §=d & Hg P! fomm @r grfie

od
Uiy

Ja¥
afém

A ke

A child facing North-East direction turns 225° clockwise, then turns 180° . The direction the
child faces is

East

West
North
South

A wnhe



70.

70.

71.

71.

72.

33
gfe I, I H 9¢ B 9 T HIS §, af X1 BT IH I a7 1 gRTTe

el

I

. TRTHTE

. OId1 GITS T9)

N

If Ravi is the brother of the son of Ram’s son, how Ravi is related to Ram?

Son
Brother
Cousin
Grand son

Howbde

i TEA, SEA TUT BET eGB! 246, 649 4T 549 IREATSHT GRT Sifiead foham S fovg
Sffardd: 3 HH § 781 o BEST & o am et gifte

5946
5246
2456
9524

Mo

If the words TEA, SEA & BET can be represented by the numbers 246, 649 & 549
but not necessarily in the same order, then the word BEST is

5946
5246
2456
9524

Ord 918 19 b1 100 Al grt & e 71| afg 500 Urit arediehd g1 1T ol 5 gU A8 d
DI A=A 1 BRfT?

i

25YMH
5UMH

75 UMH
50 UtH

> w b e



72.

73.

73.

74.

74.

34

Five gram of salt is dissolved in 100 ml of water. If 50% of water is evaporated, the amount of
salt remaining will be

2.5gm
Sgm

7.5gm
50 gm

100 fHHY/EieT 1 9T ¥ 9 gt Udh ¢ 30 Tiqed RId IR TH 6¢ $i ol 4 Ugdadi g1 afe
T BT 10% db S [T 9T df I8 U Hel Ugd Ugd S & | 39T el RIF (SReA=M)
forat R 87

A

111 fopuit
210 foet
1100 foet
2200 foet

P w e

A train travelling with a speed of 100 km/hr reaches the destination late by 1 hr. If the
speed is increased by 10% it reaches 1 hr early. How far is the destination?

111 Km
210 Km
1100 Km
2200 Km

T a1a® 30 Uil d & ugd fa T Suan, gan fa &l U, iR fam <9 3uu sk it
HH H STAdr odT & | 59 fa a1 39 forft 96 # fabda wuu gi?

el O

10
50
55
100

Mo e

A child puts one rupee on the first day in a piggy bank, two rupees on the second day, three
rupees on the third day and so on. How much would there be in the piggy bank after 10
days?

10
50
55
100

Hobdhde
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75. e U ufgan 125 Rareg@@ & 1500 Wer &1 g8 9 w=ar §, O afe uflte & g & 25%
o el faar Sie ot 98! g_1 favam Raleg=H & @1 R e

100
125
150
75

obhRE

75. If awheel can cover 1500 m distance in 125 revolutions, then how many revolutions it would
take to cover the same distance if the diameter of the wheel is increased by 25%?

1. 100
2. 125
3. 150
4. 75

1

76 (11— -0 - -5 FITH @A E:

1, 2
5
2. 2
2
3. 2
10
4. 2
5

1 1 1 1\ -
76. Thevalue of (1 - 5)(1 - ) - )1 - ) is

M w e

nioaB|lomiouwias

77. "WMIfE N> 1. @ YN YN 2 BTHE TR

| =

A w0 b
=
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77. Suppose that N > 1. What is the value of YN /N ?

78.

78.

79.

79.

1
No
2
N3
1
Ne
4
No

A w e

SIT 3UTd 4 &1 5 9 € d8! SJUTd 25 HT fhq TReam & a1 grT?

30
20
26
9

DN e

What number has the same ratio to 25 that 4 hasto 5 ?

30
20
26
9

e

M, Hig 3R 9 7 T A URY a1 3R a3, 36,000/- , T. 81,000/- 3R T
63,000/- &1 a1 foram | g & ofd & S oy T Hig &1 3f21 (W) T. 36,000/- AT FATY fh
S ATH T UT?

1. *.80,000/-
2. %.90,000/-
3. %.95,000/-
4. %.97,000/-

Ram, Mohan and Shyam started a business and invested Rs. 36,000/- , Rs. 81,000/- and Rs.
63,000/- respectively. At the end of the year, Mohan’s share of total profit was Rs. 36000/- .
What was the total profit?

1. Rs. 80,000/-
2. Rs. 90,000/-
3. Rs. 95,000/-
4. Rs. 97,000/-



80.

80.

81.

81.

82.

37

ADIT 76 Tidhe -1 3R B BT 114 Bt Ulohe A1 UT g3 | B PI U Gl H, A i UTed
Oiche -1 3 faram wfara Sifies g2

50%
60%
54%
59%

el N

A gets pocket money of Rs. 76 and B gets pocket money of Rs. 114. Then how much
percentage more is B’s pocket money than A’s pocket money?

50%
60%
54%
59%

fAfafad & ga sifore|

17 of 7-9 + [ (36-9) = 9-2]

WD

110
111
112

A =

Simplify the following
17 of 7-9 + [ (36-9) = 9-2]

110
111
112
0

98 x 96 = 914  H| TA PIoNY|

Awbhpe

. 81
729

o
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82. Simplify 98 x 96+ 914

9

1
81
729

83. IS GR0-ufym & yd U of 3R I<R-UfdH &1 IR ot gfemr fa=m &1 a1 e

el

SaR-gd
R
. afaro
. Glémrgd

83. If South-West becomes East and North-West becomes North, then what will South become ?

>N e

North-East
North
South
South-East

TP 915 30 fopil/eeT &t I 9 9d a1 g1 15 e 8 S8 fhd ey dl g aa ax
e

BoODE

84.

750 Hiex
7500 Hiex
1500 HeR
1000 Hiex

pwoN o

84. A bike runs at a speed of 30 km/hr. How many meters will bike travel in 15 minutes?

750 m

7500 m
1500 m
1000 m

A wn e
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85. <l Tl BT UMD 2 &1 Ul 377 q Ueb oA — , & ol gardl we gt

w|Nw|N

M owoN e
N W

[
N w

85. The product of two numbers is 2—? . If one of the numbers is _2—174 , then second number is

win Wi

B w D e
N w

|
N w

86. dlc x—l=5,Fﬁx2+xi2 &1 T fhgd SRR RT?

X

25
27
23
29

el A

86. If x— % = 5, then the value of x? + xiz equals to

25
27
23
29

BN

87. fFm=fafad vsal # Q4 &1 ¥ Ueg, TR U TG ol &?

e
hil

AR (g GUR)

P wn



87.

88.

88.

89.

89.

90.

40

Which of these words does not belong with the others?

Book
Chapter
Index
Glossary

gfe U T o1 faw ol (STaviFe) 4vZ gfie § 9 39 aFf &1 Tab HFT foa gIe

e

M w b e
()

If the diagonal of a square is 4v/2 units, then a side of the square is

8 units
4 units
2 units

V2 units

M owobdhde

T T o7 TR &1 A e 10% DT & U Tehq g SIS o1l T SR 98 MR 3. 6050 B T3 | I
& 1 R fobd $uy e

6000
5000
5500
6500

el A

A principal amount is charged at a rate of 10% compound interest for two years and the amount
becomes Rs. 6050. What to was the principal amount in Rs.?

6000
5000
5500
6500

o PRE

feaTda IHeRUT (quadratic equation) x2 + 5x + 6 = 0 BT I 6:

3,2

. —3,-2
-3,2
3,2

Mwbde



90.

91.

91.

92.

92.

41

The roots of the quadratic equation x% + 5x + 6 = 0 are

1. 3,2
2. =3,-2
3. =32
4. 3,-2

WWW%U@‘W@@T%% 80 Tex T ST B, 3P dIe a8 90° &8 3R
(@QIHATSST) IH PR 30 Hiex 1Y ST 8| 3D d1¢ a8 180° TR FHS 90 Hiex et femm o
ST 8| A ST &1 IR foig O gt Fam grme

140 HeR
80 Hiex
100 HieR
90 Hiex

A ke

A child facing east moves 80 meter straight, then he turns 90° clockwise and moves 30 meter
straight. Further he turns 180° and moves 90 meter straight. Then what is the distance of child
from the initial point ?

140 meter
80 meter
100 meter
90 meter

¥ 2025 H TTordd feay IIIR o1 g1 ol bR It 9 TdTan feaw frg faa g 2

e

qgYdR

CRESIGEIN

LHAR
gHaR

Mo e

Republic day in the year 2025 will be on a Sunday. Then on which day will Independence Day
be in same year?

Wednesday
Thursday
Friday
Saturday

A
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gfe gH 3iUef auiaTen Y IeepH | ford af <k g R R 3mam?

12
13
15
16

o

If we write the English alphabet in reverse order then at which position alphabet will
‘K’ appear ?

12
13
15
16

A

TRAT 10 3R 20 & & D1 RT 3HTST GAT3T (WIZH ) T 3N 1 §ITI?

15
13
16
17

A

Find the average of all the prime numbers between 10 and 20.

15
13
16
17

AwbhpeE

2 3/53
=+ V3 BN R

el A
w O N

+3/33% s

2
The value of Vo]

el
w oo NN



96. HRA RITRY &1, oY <fied 71 § P 91 & 3ificaad Hrar g ?

Indians Leaders

Singers

(P

el =
~N o o b

96. Which region represents Indian singers who are not leaders?

Indians Leaders

Singers

(P

PowbhRE
~ o o b

97. fauTN g & oo O AB §, T x &1 A (deg) T RTI?

C
30
A B

X

D
1. 30°
2. 15°
3. 90°
4. 60°
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97. In the given circle with diameter AB, find the value of x

C
30,
A B
X
D
1. 30°
2. 15°
3. 90°
4. 60°
98. = fau TN Y &1 &FH ......... Fif g ]
A
\
Ul C
8cm
1. 20
2. 30
3. 24
4. 40
98. The area of the following triangle in sq. cm is
A
10cm
Ul C
8cm
1. 20
2. 30
3. 24
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99. 3UYAfeH UNIRM (SIFHMRITT A H ot Tveamy Tt § o <l oy Henaii &1 uHwd 14 §
3R I T w1 anT 21 31 TaY St U RT §?

1. 2
2. 5
3. 12
4. 7

99. Three numbers in arithmetic progression such that the product of the two smaller numbers
is 14 and sum of the three numbers is 21. What is the largest number?

2

5
12
;

100. Y |: TS FHAGYS Q1) T THIAR Igyel (RAGIH) B

HYF |I: TS FHIR IgHST, THIqY & |
BN R R AR R AR R R AT

HYF | TEl ¢ fhg®ya 11 Tad §
HYF | TTAd § fhg HUT 11 T8 8
HY 1 3R 1| S 9L §
HYF | 3R 11 gHI 7T §

e

M w N e

100. Statement I: Every rhombus is a parallelogram
Statement I11: Some parallelograms are rhombuses
Which of the following is true?

Statement | is correct but statement 11 is incorrect
Statement | is incorrect but statement 11 is correct
Both statement | & 11 is correct

Both statement | & 11 is incorrect

Mobdhde
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PAPER | (MENTAL ABILITY TEST)

ANSWER KEY

KEY

Q. NO.

76
77
78
79
80
81

82

83
84
85
86

87

88
89
90
91

92

93
94
95
96

97

98
99

100

Q.NO. | KEY

51

52

53
54
55
56

57

58
59

60
61

62
63

64
65
66
67

68
69

70
71

72
73

74
75

Q.NO. | KEY

26
27
28
29
30
31

32

33
34

35

36
37

38
39

40
41

42

43
44
45

46
47

48
49

50

Q.NO. | KEY

10
11
12
13
14
15
16
17
18
19
20
21

22
23
24
25
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01.

01.

02.

02.

03.

HTHTY ATH / GENERAL AWARENESS

3 REHR 2024 & faoTdT I &7

1. Higwe Il Td xiida 3t

2. 3fa- TSI Ud Aadiy Rig

3. T YR Ud Weuid Rig

4. Wid® eI Yokg! vd R ife

Who are the winners of Arjuna Award 20247

Mohammed Shami and Sheetal Devi

Avani Lekhara and Navdeep Singh

Manu Bhaker and Sarabjot Singh

Satwik Sairaj Rankireddy and Chirag Shetty

Yfganufaea da Aeaq ot Wi g e 3 Bi?
33D Y

TeaC TR~CISH
S Shapfer
w g

Which scientist discovered the radioactive element Radium?

P owpnRE

M w bk

1 Isaac Newton

2. Albert Einstein

3. Benjamin Franklin
4 Marie Curie

g &) god ISt SAUId URagT e g ?

g
3




03.

04.

04.

05.

05.

The world’s largest shipping canal is ?
1. Suez in Egypt
2. Panama in America
3. Kiel in Germany
4. Gota in Sweden

TJHY & 1Y 377 & uRad & fhg TR uRHINd &d g7

@Rl
Ean
E|
EIN}

P w e

What is defined as the change in velocity over time?

Acceleration
Work
Force
Speed

HowbdhRE

W1 YRA &1 Ugdll oic fba- Uqd fobar »

ARG Surs
3‘|®§Q’1 D AdTH TG

3R, &. Gg@H dg!
o, It faeh

M w b e

Who presented the first Budget in independent India?

Morarji Desai

Abdul Kalam Azad

R. K. Shanmukham Chetty
K. C. Neogi

el A



06.

06.

07.

07.

08.

08.

ISR IO o1 Ja g AEfefad § § S a1 g?

Y& PR
STUYE P

TSIy

SN

P w e

Which of the following is the largest source of government revenue?

Direct Taxes
Indirect Taxes
Escheats
Interests

fawa yafarur feaq & 7= Sar g2

Howbde

5[
20 fagdeR
28 Hs

16 3R

M w bk

When is the World Environment Day celebrated?

1 June 5

2 December 20
3. May 28

4 October 16

SRS B T DI RTHBA @ ?

ERISAEEIS!

SO fage

TS HifdeT (Rifthore)
et fasi (TR

The study of the Universe is known as:

P w e

Cosmology
Astrology
Astrophysics
Astronomy

Mobde



09.

09.

10.

10.

11.

MY 3ad IR & qdl HI S ... YRR IARYA fHpar  Aargl

TRHTY] AT

ORATY] Sl

FaYID
JUiRHTIIR Safyd IS g

P w e

Elements in the modern periodic tables are arranged on the basis of their..........

Atomic numbers

Atomic mass

Boiling point

Chemical symbols arranged alphabetically

URIG TdeR Ik [SiHeds @H & HEfaRad § I fog Iiid are 93 & forg
ST STl 8

Howbde

TR
Wig
RIEEIE)
R

P w e

Legendary musician Ustad Bismillah Khan was known for playing which of these
music instruments?

Santoor
Sarod
Shennai
Sitar

el O

SIferaiaTell aRT ARUGR el §aHT UT?

14 37T, 1920
3 9[Ts, 1930
13 3(Ud, 1919
30 SHaYT, 1918

M w bk



When did Jallianwala Bagh massacre take place?

14 August 1920
3 July 1930

13 April 1919
30 January 1918

YR & e & fog urau™ ([use) § e wd sifFad Rien &1 Sif¥iaR
T fear mar ge

3G 14
3ffwsa 21
3 21T
3feda 19

Which provision of the Constitution of India grants right to free and compulsory
education in India?

obhpRE

M w b ke

Article 14
Article 21
Article 21-A
Article 19

o

fau™ ¥ ford W1 gRT YR H TdeM &1 3R $I geTax 18 qu fovar 1T

sggRne SrfdfaH
60 TTRIeA SHffTTH
61 TGRS Sffefad
62 TT=MeA SHffaH

P w e

Which Constitutional amendment reduced the voting age to 18 years in India?

58" Amendment Act
60" Amendment Act
61" Amendment Act
62" Amendment Act

o



14.

14.

15.

15.

16.

16.

YR Ty faf o 918 (Tusalens) & RIToHT fhd oy & 57

1992
1975
1988
1989

HowbdRE

Securities and Exchange Board of India (SEBI) was established in which year ?

1992
1975
1988
1989

obhRE

STE 1 fauTe fohe an o frssruTe g »

1914
1913
1912
1911

o

The partition of Bengal was annulled in which year ?

1914
1913
1912
1911

Howobde

HRA A Y 1991 ¥ 3fifep e &Y ....... A 1 srgaRwr fpan man 1

Tad (aiiss)
PER
JaR
faf3a

India has followed the policy of economic development since 1991.

w N e

e

Closed
Strict

Liberal
Mixed

Hobdhe



17.

17.

18.

18.

19.

T 2024 T Sit-20 P SreTeran frg =1 1 I 775 37

HRd
ECIEIEE]
CISIK]

Sf&M0T SpidT

P w e

Which of the following countries has G-20 presidency in your 2024?

India
Indonesia
Brazil

South Africa

3R <! frg Td @ 9 g °

CINIEIS]
Peard
fhoe

GRS

Howbde

M w bk

Deodhar Trophy is related to which report?

Volleyball
Football
Cricket
Tennis

TR 2024 & SR 10 Hiek TR A% Wi Algar ufadifiar & 9ol ues
e Sfiare

3a ISl

T MR
g oft Jiam
SRIERIR NG|

el

M w b e



19.

20.

20.

21.

21.

10

Who won the gold medal in Women’s 10 m Air Rifle Standing event during
Paralympics 2024?

Avani Lekhara

Manu Bhaker

Nithya Sre Sivan
Thulasimathi Murugesan

HRd & Uyt de R fRUT «A18 &7 Ioifde 0 3 f5g I9 IRd &5 &1 HRT§?

EEINCS
SEARAL
TageR

THATd ¢

A

P w e

The ‘Mahe Region’ located on the Western Coast of India is politically a part of
which  Union territory?

1 Chandigarh

2 Lakshadweep
3. Puducherry

4 Daman and Diu

3ACER, 1959 H FaUYH YR & v X1od H YA IS i AR fohar Tar?

NEIIE]
GIEGKIS]
HRd
HlcH

> w b e

Panchayati Raj was first introduced in India in October 1959 in which state?

Rajasthan
Tamil Nadu
Kerala
Karnataka

A



22.

22.

23.

23.

24,

24,

11

qXI® U9 39D aGD D! UgdH Bitod : HEfaRad & 9 & 91 g TTad 87

T Ygcdd sag- fahd It

3G 1S — SfchH < Ieiuremd
ﬁm_gsﬁaqaz{
AIAST S — IHIG BT

Identify the BOOK and the AUTHOR: Which of the following is wrongly paired?

P w e

A SUITABLE BOY - VIKRAM SETH

ANANDAMATH — BANKIM CHANDRA CHATTOPADHYAY
GODAAN — MUSHI PREMCHAND

MALGUDI DAYS - RAMCHANDRA GUHA

Howbde

“A Brief History of Time” fdoae forar g7

NIGEIE]

o P, A3feiT
S

T BIfhT

Who has written “A Brief History of Time” ?

M w bk

John Green

J. K. Rowling
Suzanne Collins
Stephen Hawking

............... 3P Bl JRIY F SET HRT g |

el

foTaTeeR (SdaedsHe) IfY
P (Saeasae) IfY
Oich (SasHSHL) TfY
ST (STasHeHe) TiY

P w e

The separates African from Europe.

Gibraltar Strait
Hook Strait
Palk Strait
Bering Strait

Mobde



25.

25.

26.

26.

27.

27.

12

T O fas wd T oirl g7
1. 14 HRAR}
2. 28 IaR!
3. 28HM™
4, 28 SHaR

When is the National Science Day celebrated?

1 February 14
2 February 28
3. March 28

4 January 28

oo ftharic & ffor & for erq o1 SuanT forat Sran 82
fAora

e

TREH (IR)

GIEI

M w bk

Which metal is used for making bulb filaments?

Nickel
Tungsten
Mercury
Copper

el

o
1
£

The Konkan Coast links between in India.

Goa and Mumbai
Goa and Cochin
Goa and Surat
Goa and Daman

Mobde



28.

28.

29.

29.

30.

30.

13

faza &) I U ot T 931 Sha w19 ge
1. O guiaR

2. WD IHA

3. o HRrE

4,  TH IS

Which is the largest fresh water lake in the world?

Lake Superior
Lake Baikal
Lake Michigan
Lake Eric

VIR FHL A WA doll J T § TP

UIR HHR &b oI H ISAT &7 ATer 3P BT g

U3R (GF) & HeRd®y od & adyid | gl il ol
IR (S9) & HeRd®y od & aayid H HHl M1l ]
IR FHL H ST g gAdH eIl g |

Howbde

M w bk

Cooking is faster in a pressure cooker because

More heat is conducted to water in a pressure cooker.
Boiling point of water increases under pressure.
Boiling point of water decreases under pressure.
Heat loss is minimized in pressure cooker.

g TrRae & Rl Su=ma & 3FIST SaTe &I SRR g REHR  faam T ?

Y IKSIER]|

farIe AR g
et aaf

Tfiaetfer it

el

P w e

An English translation of whose Hindi novel was awarded the International Booker Prize?

Krishna Sobti

Vinod Kumar Shukla
NirmalVerma
Geetanjali Shree

Mobde



31.

31.

32.

32.

33.

33.

14

fo=g UR W18 w4 3ifdd H 3mar ?

AT, 1994

ALY, 1996
fegeR, 1996
ALY, 1995

M w bk

When did the World Trade Organization come into existence?

March, 1994
January, 1996
December, 1996
January, 1995

Howbde

3t sfear e A fafew 1o &) wifeaal & gXioRUr & THY T9+R SRS DI UT?

A gfeT
AT BT
dAlS Brarery

dle ATScac

M w b e

Who was the Governor General when the power was transferred from East India

Company to the British Crown?

Warren Hasting
Lord Canning
Lord Cornwallis
Lord Mountbatten

i

YR BIS! STRIeH fohd a8 T fhd R & URY ga3Mm?

7 3T 1942, TYT

8 3T 1943, Has

7 31T 1942, faeaht

8 TR 1943, JT&RHd!

P w e

The Quit India Movement began in which year and in which place?

7 August 1942 in Wardha

8 August 1943 in Bombay
7 August 1942 in Delhi

8 August 1943 in Sabarmati

M owbde



34.

34.

35.

35.

36.

36.

15

A W DN

The tropic of Cancer passes through

Bihar

Andhra Pradesh
Guijarat

Uttar Pradesh

=it § § o 31 0 faw gry 76} gar ge

aifera
EEEY

IS
AT

Howbde

M w bk

Which of the following disease is NOT caused by virus?

Polio
Chicken pox
Herpes
Plague

Y 2024 T I FOH TIBR & 3l fa9H A RIBR T feam mam »

el

81, 1A $UR AFM

31, MideTo gaHTH—

8. 3G TRUH W 3.

P w e

Who was awarded VigyanRatna, RashtriyaVigyan Puruskar in 2024?

Dr. Avesh Kumar Tyagi

Dr. Krishna Murthy S. L.

Dr. Govindarajan Padmanaban
Dr. Anandharamakrishnan C.

Mobde



37.

37.

38.

38.

39.

39.

16

iReE & dfqur I Freferiad & 3 fooe gy o) forn mar g7

I Hifa & if Fde Rigia
Aiferes B

oyt fIeR

YT B

P w e

Which of the following provisions have been borrowed from the Constitution of
Ireland?

The Directive Principles of State Policy
Fundamental duties

Constitutional rights

Constitutional duties

YR & Afqu™ # forat srgfrat g2

P owphE

8
9
11
12

o RE

How many Schedules are there in the Constitution of India?

8
9
11
12

Aefeed & 4 o I i greu g e 87

PohdPRE

PHIe ST3AHTRITZS
BiE]
FARIGART®TET (CFCs)

e

M w b e

Which of the following is NOT a Green House Gas:

Carbon dioxide

Methane
Chloroflurocarbons (CFCs)
Oxygen

M owbde



40.

40.

41.

41.

42.

42.

17
YR &1 GaT -ifd B S WepR! e Fafa sarg?

Haitemg @ 3ifw gfeam
R3S (HRAT Rord dop)

Which Government body controls the Monetary Policy in India?

P w e

BOI (Bank of India)

RBI (Reserve Bank of India)
SBI (State Bank of India)
UBI (Union Bank of India)

TIRY feg faxafaened o Rig=1 foa St

Uf$d T Hig Hreid i
ST TTeR foeie
STATER e g%

W TG g @H

Howbde

M w bk

Who founded the Banaras Hindu University?

Pandit Madan Mohan Malaviya
Bal GangadharTilak

Jawahar Lal Nehru

Sir Syed Ahmad Khan

AR X Pt faa=ht gaT 1R (WA TR Roid) &1 3iftRed &1 872

foT smamT
i s
SRAT3ME
EGEEINE

el

P w e

Who is the custodian of our country’s foreign exchange reserves?

Finance Commission
NITI Ayog

RBI

Ministry of Finance

Mobde



43.

43.

44,

44,

45.

45.

18

e & &3 | a9 2024 BT A REBR [y UaH a1 e

P w e

T 3RAI
Rl

S B
A IS

The Nobel prize for Literature for year 2024 was awarded to

Howbde

Annie Ernaux
Han Kang

Jon Fosse
Salman Rushdie

NG GRT UTRd [l BT gRT HRT &8 dfgdl, 1860 PT Ui favan T g7

M w bk

YR =g wfgdl, 2023

YR TR & WigdT, 2023
R q1ed 3ffafas, 2024
HRTT =TyTieresT aioiT, 2024

Which law passed by the Parliament replaces, Indian Penal Code, 18607

1. Bharatiya Nyaya Samhita, 2023

2. BharatiyaNagarik Suraksha Samhita, 2023

3. BharatiyaSakshayaAdhiniyan, 2024

4. BharatiyaNyayapalikaYojana, 2024
TS TIh TG ... o Twg R ?

1L Wisw

2.  fwafdw

3. foade

4. O

The term Butterfly stroke is associated with............

Mobde

Aerobics
Swimming
Cricket
Polo



46.

46.

47.

47.

48.

19

gt & 30 4 W gHI B BROT ... Bl gl

auf

faf= WMo
faT sk @
Yo

P w e

The rotation of the earth about its axis causes............

Rainfall
Different seasons
Day and Night
Earthquake

98 UM, gl WRT UM 3R el ol FRaR g # e g ...

Howbde

1l (TTeth)

qer
ST (35 YA
GIRING))

M w bk

A place where there is constant inter-mingling of salt water and fresh water is ............

Gulf
Estuary
Delta
Bay

g S fHe TRBRY FIHUFT § 1 U &1 A1l & < 319 oy o & g
3MTdE BHI?

WRBHRY MU= ATH, 1923
YR IR 3ifafad, 1988
a1 drenfiest sifdifam, 2000
1 &1 HUBR HfAFIH, 2005

el

M w b e
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48. If you want to seek information from a government department then under which law
will you fill an application?

A

Official Secrets Act, 1923
Prevention of Corruption Act, 1988
Information Technology Act, 2000
Right to Information Act, 2005

49. AT BTG oo

a9 & &Y H O o Ut HFT I 5 g1 &1 Ufdpan

T & UHTR &1 SURITT 8L el GRT HIaH SRS SR I 4
TR 1ol oI W BT RO 3 1 UfchaT

e 9T & gU H QY & Uit HIT T 5 TG0 B34 1 Ufghar

gg Ui for e S3fife=d &t TSihTe (3fd:rdt &1 Ugu)
HIRIBIST GRT G BT A1 BT 5|

49. Transpiration s ............

1.

4.

process of loss of water from the aerial part of plant in the form of water
vapour.

process in which green plant synthesize their food like glucose from
carbon dioxide and water in the presence of sunlight.

process of gain of water from the aerial part of plant in the form of water
vapour.

process in which a hormone is secreted by endocrine cells of duodenum.

50.  HRAIT TG & G Had! Bl gA1d [l IRBRT T gRT TaTierd faa il g7

P w e

19 TN

T STl HaTey
e HEET
YYTTHA BTated

50. Which Government body conducts elections for both houses of Indian Parliament?

Hobde

ELECTION COMMISSION

MINISTRY OF PARLIAMENTARY AFFAIRS
PRESIDENT’S OFFICE

PRIME MINISTER’S OFFICE
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ENGLISH LANGAUAGE

51-52. Mark the option that best expresses the given sentence in reported speech.

51. He said to them, “Will you abide by the orders of such a man.”

He asked them if they will abide by the orders of such a man.

He asked them whether they would abide by the orders of such a man.
He asked whether they will abide by the orders of such a man.

He asked them whether they will be abiding by the orders of such a man.

E A

52. The teacher said, “The earth revolves around the sun.”

The teacher said that the earth revolves around the sun.
The teacher said that the earth revolved around the sun.
The teacher told that the earth revolved around the sun.
The teacher said that the earth has been revolving around the sun.

A

53-55. Mark the option that best expresses the given sentence in passive voice.

53. They postponed the exam.

The exam was postponed.

The exam has been postponed.
The exam is postponed by them.
The exam was being postponed.

A

54.  Why did your mother call you?

Why was you called by your mother?

Why were you called by your mother?
Why has your mother called you?

Why have you been called by your mother?

R A

55. Some people were helping the injured man.

The injured man were being helped by some people.
The injured man was being helped by some people.
The injured man has been helped by some people.
The injured man would be helped by some people.

Hwbhe
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56-60. Choose the correctly spelt word.

56.

LIASION
LIASON
LIAISON
LAISON

AR

S7.

PENDULUM
SPORRADIC
CAJOEL
REDRESAL

A

58.

DIBILITATING
DEBILITTATING
DEBILITATING
DEBILLITATING

A

59.

FAITHFULY
TRUELY
AFFECTIONATLY
SINCERELY

R A

60.

PNEUMNOIA
DIARRHEA
AMENSIA
DIMENSIA

Hwnh e

61-65. Mark the option which is the correct one-word substitute for the given group of words.

61. A government in which power rests with a small group of people.

Oligarchy
Democracy
Plutocracy
Monarchy

AW
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62. A person of good understanding, knowledge, and reasoning power.

1. Expert
2. Intellectual
3. Snob
4. Literate
63. One who is able to use both hands equally well.

Sinister
Ambidextrous
Ambivalent
Amateur

A

64. One who considers the happiness and well-being of others.

Atheist
Altruist
Alchemist
Aesthete

e

65. A handwriting that cannot be read.

Legible
Corrigible
Negligible
Illegible

A

66-70. Choose the correct antonym of the given word.

66. FOREMOST

Headmost
Unimportant
Mature
Disposed

A

67. BENEFACTOR

Patron
Beneficiary
Philanthropist
Almoner

AW e
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68. EVIDENT

Convicted
Disagreed
Doubtful
Unimportant

e

69. DISPERSE

Collect
Hoard
Save
Assemble

AW

70. ENORMOUS

Soft
Average
Tiny
Weak

e

71-74. Choose the correct synonym of the given word.

71. CEASE
1. Stop
2. Begin
3. Dull
4, Create

72. BITTERNESS

Pleasantries
Acrimony
Aspersion
Hoarseness

A

73. COLLISION

Evasion
Concussion
Deviation
Resolution

AW e



74.

75.
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STERILE

1. Fertile

2. Childless

3. Dry

4, Barren

Choose the correct Idiom to fill in the blank.

Manish is . He and his father both love fishing.
1. A daredevil

2. A thorn in my flesh

3. A spendthrift

4. A chip off the old block

76-78. Choose the correct meaning of the underlined idiom in the following sentence.

76.

77.

78.

The doctors have been able to keep her illness at bay for several months.

AW PE

keep her illness at the seashore
keep her illness in mind

keep thinking of her illness
keep her illness at a distance

The next few months will be the acid test of the government.

Awbhe

a critical situation or crisis.

an unpleasant or offensive test.

a fact, event or situation that proves something.
litmus test in a laboratory.

You’ve heard my offer. Why don’t you sleep on it and let me know what you decide.

AW

to wait before making a decision
to prefer to sleep than take action
to make a hasty decision

share your decision
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79. The following sentence has been divided into three segments. ldentify the segment
with a grammatical error.

He was the man / whom they thought / was dead.

He was the man
whom they thought
was dead

No Error

A

80-82. Choose the grammatically correct sentence.

80.

| prefer dogs from cats.
| prefer dogs over cats.
| prefer dogs than cats.
| prefer dogs to cats.

Mo

81.

Here’s my report. I finish it at last.
Here’s my report. I finished it at last.
Here’s my report. I am finished it at last.
Here’s my report. I’ve finished it at last.

AR

82.

What was that notice at that you were looking?
What was that notice you were looking at?
What was that notice you were looking at it?
What was that notice which you were looking?

A

83-93. Fill in the blank with the correct option.

83. The decision appears

beautiful
unjust
coarse
dainty

AW



84.

85.

86.

87.

88.

89.

27

We need to protect from pollution.

1. environment

2. an environment

3. a environment

4, the environment

Could you let me know ___ Friday at the latest.

by
to
upto
until

AW

Ram was lying on the grass reading a book.

in

by

on
besides

e

Winters here be really cold sometimes; so make sure you bring warm clothes.

could
may
can
might

HobdRE

Great idea! Which film we watch?

did

shall

will

were we going to

A

I haven’t seen my brother  last Diwali.

already
before
for
since

A



90.

91.

92.

93.

94.
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Could you tell me ?

1. the bus stop is where

2. where is the bus stop

3. is where the bus stop

4. where the bus stop is

She in seven different countries, so she knows a lot about different cultures.
1. lives

2. have lived

3. has lived

4, lived

We had time at the party yesterday.
1. really nice

2. a real nice

3. a really nice

4. really a nicely

Alright, I ___ your challenge!

1 except

2 expect

3. excerpt

4 accept

How many mistakes are there in the following group of sentences?

| flew into a rage and hitted him with all my might. Later, | realize something; | hurted

myself during the fight.

A

2
3
None
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95-100. Read the following passage and choose the correct option for each question.

Man should strive to mitigate natural decay by recycling or reusing as much waste as
possible. Magnetic extractors in incinerator can save tons of metal and reduce incineration by
ten percent. The packaging industry can do an excellent service by using materials that
disappear fast. The perfect container is the edible ice-cream cone.

To cut air pollution, a Japanese process can be used to convert ash into cinder blocks.
Recovering waste at the source is almost always cheaper than clearing it later. Take sulphur,
for example, which in short supply around the world. Wastage sulphur dioxide belched from
smoke stacks could be trapped in the stack and be converted to sulphuric acid or even fertilizer.

We can be sure that just as technology has polluted the land, it can also depollute it. The
real question is whether enough people want to take action. The trouble with modern humans
is that they tend to get bored by the news that pesticides are threatening remote penguins or

pelicans. At this hour, our only choice is to live in harmony with nature, not to conquer.

95. What does ‘mitigate’ mean?

Increase
Reduce
Intensify
Aggravate

R A

96. How can we reduce natural decay?

Disposing
Wasting

Recycling
Throwing

Awbhe

97. Which industry can best contribute to this?

Manufacturing
Automobile
Hospital
Packaging

Hwnh e
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98. At what stage can waste be recovered cheapest?

Product
Process
Source
End

e

99. What is the positive hope that the passage gives?

Technology pollutes land.
Technology can also depollute.
Technology creates havoc.
Technology has decayed the planet.

A

100. How can we meet the problem of pollution?

Live in harmony with nature
Conquer nature

Serve nature

Utilize nature

e

* k% %
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PAPER Il (General Awareness and English Langauage)

ANSWER KEY

KEY

Q No

76
77
78
79
80
81

82

83
84
85
86

87

88
89
90
91

92

93
94

95

96

97

98
99

100

KEY

Q No
51

52

53
54
55
56

57

58
59
60
61

62

63
64
65
66
67

68
69
70
71

72
73
74
75

KEY

Q No

26
27

28
29
30
31

32

33
34

35

36
37
38
39
40

41

42

43

44
45

46

47

48

49

50

KEY

Q No

10
11
12
13
14
15
16
17
18
19
20
21

22
23
24
25
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fAaafaf@a & & Fia ar 3rer (ko) ged 37 8°

1)
2)
3)
4)

7/8

13/16
33/40
65/80

Which of the following fraction is largest

1)
2)
3)
4)

7/8

13/16
33/40
65/80

132, 204, TUT 228 T HEATH FATIAAH (TIHTH) ATT FL?

1)
2)

12
18

3) 6
4) 21

Find the HCF of 132, 204, and 228.
1) 12
2) 18
3) 6
4) 21

999.99+99.99+9.99+0.99 = ?

1)
2)
3)
4)

1110.96
1001.99
1109.99
1110.89

999.99 +99.99 +9.99+0.99 ="

1)
2)
3)
4)

afe x
1)
2)
3)
4)

1110.96
1001.99
1109.99
1110.89

= 5TAT y =0.05a AFfa@d & ¥ &l @1 gad 357 &2

X2 +y2
Xt -y
X2 y2

X/ y?

If x=5 and y=0.05, which of the following is the greatest?
1) x> +y?
2) XZ _ y2
3) XZ yZ
4) X[y

T@AT 0.131313........,p/q BT H fhash ToHReT §?

1)
2)
3)
4)

2/11
4/11
13/33
13/99
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The number 0.131313......., in the form p/q is equal to ....
1) 2/11
2) 4/11
3) 13/33
4) 13/99

6. 12(2/3)+6(1/3)+7(1/4) x (2/5) — 25% of 24 = ?
1) 3.1
2) 3.0
3) 0.31
4) 0.30

12 (2/3) + 6 (1/3) + 7(1/4) x (2/5) — 25% of 24 = ?
1) 3.1
2) 3.0
3) 0.31
4) 0.30

7. ARG 3x+7y=75TUT 5x—5y=25 AN +y’ I AT (de[F) FHAT gram?
1) 160
2) 157
3) 155
4) 150

If 3x + 7y =75 and 5x — 5y =25, then what is the value of x> + y*?
1) 160
2) 157
3) 155
4) 150

8. '«’Jﬁ{x=\/1+\/1+\/1+---.......°°<_-ﬁx<'=h'r ATCHSHTT AT BIIM?

1) V7 +1 2) V6 +1
2 2
2) \/5_2+1 2) \/3_2+1

If x = Jl + \/1 + V14 .. ...oothen the positive value of x is ?

V6 +1
2

i
1 72+1 2)

V5 +1 V3 +1

3) 4)



9. U el & il & 3ad g 16.8a¥ B HaT & ofsaht &1 e Mg 17.4a9
aur orsfeRat #T 3Ed MG 16.4aY Bl oY Hell H oISl Sl FGAT AT Asfhar

HEIT T 34T ST 2
1) 1:2
2) 2:3
3) 34
4) 3:5

The average age of students of a class is 16.8 years. The average age of boys in the class is 17.4
years and the average age of girls is 16.4 years. Then what is the ratio of the number of boys to
the number of girls in the class?

1) 1:2
2) 2:3
3) 34
4) 3:5

10. A, B, C, D 31T E shaer: Org Had Awe d@ad &1 afe A 31K ¢ &1 aer1sog @ b 3R

E ST JI9T AT gHEM?
1) 164
2) 162
3) 160
4) 158

A, B, C, D and E are five consecutive odd numbers. The sum of A and Cis 150. Then what is the
sum of D and E?

1) 164
2) 162
3) 160
4) 158

11. TTS logs 2(x* +x) —logs (x+1)=2 @l x T HTeT HAT HEI?
1) 4.5
2) 4.0
3) 3.0
4) 3.5

If logs 2(x*+x) - logs (x+1) = 2 then the value of x is,

1) 45
2) 4.0
3) 3.0
4) 3.5

12. 9.0 fraitans (faramm) 118 A fohae gfaera &2

1) 0.15%
2) 0.10%
3) 0.25%
4) 0.20%



13.

14.

15.

What percent of 9.0 kg is 18 grams?

1) 0.15%
2) 0.10%
3) 0.25%
4) 0.20%

Teh GQET # 290 3Mdesh AiFATAT gU S & & 262 9leT & 9 gUl hel g arel
37TdGahl T FTIAT TSI Tohdell 87

1) 9.66%
2) 9.56%
3) 9.00%
4) 10.6%

290 applicants appeared for an examination, of which 262 passed. What is the approximate
percentage of failed students?

1) 9.66%
2) 9.56%
3) 9.00%
4) 10.6%

Ife forel a¥q & AT HoT U T4 AT T 3eUrd 10:13  al, a1 &1 gfaerd
R grem?

1) 30%
2) 3%

3) 15%
4) 10%

If the ratio of cost price and selling price of an article is 10:13, then what is the percentage of
the profit?

1) 30%
2) 3%
3) 15%
4) 10%

Uh A I FHl AT AW T AT 9:58 | I AT HY 9T T & o9Td Hed 4 %
1250 3181k g1 o $dl & HIF fhcel TUT gram?

1) 1550
2) 1560
3) 1260
4) 1250

The ratio of cost of table and chair is 9:5. If the cost of the table is Rs.1250 more than the cost
of chair, then what is the cost of the chair in Rs.?

1) 1550
2) 1560
3) 1260
4) 1250




16. A3 B o Uh gITATT HAA: T. 45000 3R . 36000 % faaer & yrer foham| afg s

qIIAT | 19 Fol IIf¥eh 18T 8. 2700 81, i AT AJR ST (AT Tfthe) Fehetetr &2

1) 1500
2) 1350
3) 1800
4) 1550

A and B started a business with investment of Rs.45000 and Rs.36000 respectively. If the total
annual profit of the business is Rs.2700 then what is the share profit of A?

1) 1500
2) 1350
3) 1800
4) 1550

17. 56 qATFA frdl T @112 faall & Q@ & o §1 38 FF Y e F 21 q@Faar A

forcer f&eT ordtar?
1) 32
2) 48
3) 36
4) 64

56 men can complete a piece of work in 12 days. In how many days can 21 men complete the
same piece of work?

1) 32
2) 48
3) 36
4) 64
18. 9159 A 3R B Ush & il FAM- 3TIT48C H N Fohd § &% IS8T C Il & ;N
H QX &b HI5EE H Wrell AL Fohal gl Tie Al 98Ul &l Teh @Y Tl fear e
ar 39 & & A H Thdell IHT oPEm?

1) 22 2) 2=
23 23

3) 22 4 2L
23 23

Pipe A and B can fill a tank in 3 and 4 hours respectively, while pipe C can empty the full tank in
5 hours. If all three pipes are opened together, then how much time it will take to fill the tank?

1) 2= 2) 2=
23 23

3) 222 4 2L
23 23



8

19. &1 ST HART X AR Y o SHA: 60 fopall/eier 3N 75 fohefi/aer & a7 & U gay H 3N
AT GRS $T| 320 [AcIe & REMT T g@l @ @IS d647 3ie amEr grRer &
3 U g F Ao g W
1) 50 frarHex
2) 45 fhalidAeY
3) 60 fohaliHTeY
4) 4ofFedeR
Two bikers X and Y start and ride at 60 km/hr and 75 km/hr respectively towards each other.
They meet after 20 minutes. How far were they from each other when they started?
1) 50 km
2) 45km
3) 60 km
4) 40 km
20. B Y JolelT H A @1 I[AT ool AT & glgar § Sidfeh B, C ofied I aef aifd & g
gl df ¢ SarT 90 fAdie 7 a7 1 S g H A Tl FHAT F qUT X ol9mm?
1) 12 @de
2) 18 A=
3) 15 fAae
4) 20 fAsIe

A runs twice as fast as B and B runs twice as fast as C. The distance covered by C in 90 minutes
will be covered by Aiin ?

1) 12 minutes
2) 18 minutes
3) 15 minutes
4) 20 minutes

21. 17 #ex ufa Ths 1 e Feafaf@a 7 @ fras /SR &2
1) 17 forsl/Eer
2) 61.2 forst/aer
3) 60 foRaAl/ er
4) 60.2 foRet/ger

A speed of 17 meters per second is the same as?

1) 17 km/hr
2) 61.2 km/hr
3) 60 km/hr
4) 60.2 km/hr

22. 5% AT &I & 3.5F8 H ¥. 5400 FHT AHATAT FATST HAT HEI?
1) %.945
2) %.950
3) %.1890

4) 3.940



23.

24.

25.

What is the simple interest on Rs.5400 at 5% per annum in 3.5 years?

1) Rs.945
2) Rs.950
3) Rs.1890
4) Rs.940

4% HHAT d¥e AT HT & § Teh YR foheiat ant & ar af=ir gr e
1) 309y
2) 15aY
3) 25aY
4) 2099

In how many years will a sum of money double itself at 4% simple interest per annum?

1) 30vyears
2) 15years
3) 25vyears
4) 20 vyears

15% aTf¥er ¥ ¥ 381 & URENT %. 12000 W YT <5 Jf& SATS HAT gram?

1) ¥.5300.50

2) %.5200.00

3) %.6350.50

4) %.6250.50
What would be the compound interest obtained on an amount of Rs.12000 at the rate of 15%
per annum after 3 years?

1) Rs.5350.50
2) Rs.5250.50
3) Rs. 6350.50
4) Rs.6250.50

ofe fordlt 3maa & @ars, s Tl @ et I 3R 38 I i aRfY se iR
g oY, 3 3mad r =iSrs HaAT g

1) 8 HI&X

2) 9 #HAleX

3) 7#HIE

4) 6HIET

If the length of an rectangle is thrice of its breadth and the perimeter of that rectangle is 56
meter, then what is the breadth of rectangle?

1) 8m
2) 9m
3) 7m
4) 6m
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Mountain : Hill : : Tree : ?
1) Ground.
2) Leaf.
3) Forest.
4) Shrub.

27. Ac1MdT : SIX (sheh)

5) SIS : FHAG

6) CTTTC: FTehIT AT HS]

7) @83 : STl
8) 3TeTgehIOfI : o T

Fragile : Crack
1) Cemetry : Death.
2) Pliable : Bend.
3) Hydro : Water.
4) Incredible : Reduce.

28. BDF : GIK
9) CEH:IKN
10) CFl: GIM
11) CEG: HIL
12) HKM : NRT

BDF : GIK
1) CEH:IKN.
2) CFl:GIM.
3) CEG:HIL
4) HKM : NRT

29. CIRCLE T RICELC ¥ 3T ORE T THEAY g oidToh SQUARE T .................

13) QSVERA
14) QUSERA
15) UQSAER
16) UQSERA

CIRCLE is related to RICELC in same way as SQUARE is related to..........
1) QSVERA.
2) QUSERA.
3) UQSAER.
4) UQSERA.
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30. 37T LG Pl FATT?
1) 3N¥(3g)
2) G (1)
3) a9 (=)
4) Al

Odd one out
1) Dew
2) Fog
3) Rain
4) Monsoon

31. 3HITT QG I TATT?
1) <THIY
2) FHE (HEHAR)
3) 3oL
4) AR

Odd one out
1) Tomato
2) Cucumber
3) Potato
4) Peas

32. I DELHI ST CCIDD & &I H HIfSd foaT SITT A MONEY &1 3T vl TIH hIfgd i

1) LMKAT
2) LMKAV
3) LMKAS
4) LMNAT

If Delhi can be coded as CCIDD, how would you code MONEY?
1) Dew
2) Fog
3) Rain
4) Monsoon

33. [y AfTd 15 & BAT=23 TUT CAT=24 T 379 BALL ! fhd ThR T IS HYaI?
1) 27
2) 28
3) 32
4) 120

If in a certain code, BAT=23 and CAT=24, then how will you code BALL?
1) 27
2) 28
3) 32
4) 120
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34. I ‘SRR T ‘STel; ‘STel’ Y W', TIH R ‘FGel’; ‘STeel’ i ‘ITRIL’; ‘3R I THe
3R FH T I AT o Al gaATS STETo el 35d o7
1) 5%
2) A
3) deel
4) Slel

If “rain” is water, “water” is “road”, “road” is “cloud”, “cloud” is “sky”, “sky” is “sea” and “sea” is
“path”, where do aeroplanes fly?

17) Road
18) Sea
19) Cloud
20) Water

35. YA = Teh AT A gl [ IR AT & YT T Tg=T ALY AN & | 37 AT AT I8 F HaT
Rerarg?
1)
2) 9 (FrEER)
3) Af

4) dfgel

Ramesh said to a lady, “your mother’s husband’s sister is my aunt”. How is the lady related to

Ramesh?
1) Daughter
2) Grand daughter
3) Mother
4) Sister

36. Toh Gl T TRAY Il §U Th AT o1 el foh “SeTehl Tefott A AT S 3rehell T & |
3 AT I 3T qITFT T HAT RAAT EI9I?
1) oS
2) WX
3) HET
4) 9fd

Introducing a man, a women said, “His wife is the only daughter of my father”. How that man
related to the woman?

1) Brother

2) Fatherinlaw

3) Maternal uncle

4) Husband
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37. Ueh g Tehcl T Hg SclcX-9d T 3T § 198 TST T =T (elleharsst) H 90° W Hsll ¢ 3R 38
a1 TsY b1 faudie fee (Ufeapeiiharsst) # 135° W H3dll & | 36T He 319 et faar # gram?
1) qa feer
2) ufRas feam
3) 3da] feam
4) cfayor fgem

A man is facing north-east. He turns 90 degree in clockwise direction and then 135 degree in
anticlockwise direction. Which direction is he facing now?

1) East

2) West

3) North

4) South

38. Hellol 20 HEX 3R & 3R Tl g1 38k dTe T alfgel 3N Hh 30 HeX worar g
R a5 arfestr 3R A 35 #ieY Taar €1 38F a6 O 9 @15 3R gt 15 AieY
Teldl §l 38 a6 98 R § &5 3R Hsar ¢ 3R 15 HeX Forar g1 98 39eh 7o
Pufd @ fhael gt W aur fha feem & &2

1) 15 #HeR, gfegA
2) 30T, qd
3) 30#IX, 9fTgH
4) 45T, &

Manoj walks 20 m North. Then he turns right and walks 30 m. Then he turns right and walks 35
m. Then he turns left and walks 15 m. Then he again turns left and walks 15 m. In which
direction and how much away is he from his original position?

1) 15 m, West
2) 30 m, East
3) 30 m, West
4) 45 m, East

39. i QU a0 T & 3@ &1 (Jo7eT) & 90 S 34 ARAIT gy & JidfaAiada sidr
g Siifeh M g7

Leaders
Indians

1)
2)
3)
4)

AN DB W

Singers
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In the figure given below, find the region that represents Indian leaders who are singers?

Leaders
Indians

L/
aON AW

Singers

40. & QU av BT & HHarR (a9 ARGt @ IfFGThT Har §; Feger Rueriaar
dUT g TAAT &Y AT §1 SHA i AT dAe arerr FHAT (FaSuTe) Afger-vAdv -
frenfaet & fAquesad Far a1 gear g2

12
1) 10 5 20
2) 2 5
3) 7 6 4 8
4) 4 \/V

In the following diagram, the square represents women, triangle represents educators and circle
represents M.B.As. Which numbered part represents women-MBA-educators?

12
1) 10 5 20
2) 2 ,
3) 7 6 4 8
" N

41. 7 RU v == & 39 o+ 3SATH (Venn diagram) &I TIA Y oIl ﬁﬂﬁm
(FelTdST) & A Fafdad FHReeydr # RfFd war g dequey, factey, gréafdar
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Select the Venn diagram that best illustrates the relationship between following classes.
Graduates, Literates, Hardworking.

@ (D
6D (@

42. IS AT (EFaY Beuen) #§ Gaafeaf@a & @ a9 a1 gq5g 9Y g w®

3Taa?
1) False
2) Follow
3) Fool
4) Fallible

Which of the following words will come fourth in English dictionary?
2) False
3) Follow
4) Fool
5) Fallible

43. I fGU T TAHET (378RT) & GEY 19T (HehsgIh) I 3efc G ST df dhieT &7 3EN
ST & 3Tad eV & el 3] 3T FF W g ?

1) y
2) x
3) w
4) v

Which letter should be eighth letter to the right of eighth letter from the left, if the second half
of the given alphabet is reversed?

1) vy
2) x
3) w
4) v
44. ‘NOT' oG & foheTgl @l 31T & 3UANeT e fohcdel ATda (3r0l) 37T ereal &t
giora famam S erar 82
1) TH
2) a
3) o
4) TR
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How many meaningful English words can be formed by using any two letters of the word ‘NOT’?
1) One
2) Two
3) Three
4) Four

45. IS + T AU -; - FT ATAUT x; + HATAIT + 3R x FIATTIT + & aF 16-4+10x5 5 =?
1) 54
2) 07
3) 67
4) 19

If + means -, - means X, + means + and X means +, then 16 -4 + 10 x5+ 5 =?

1) 54
2) 07
3) 67
4) 19

46. Th HAS H HGT B B oo
1) 37 (d9ecH)
2) U5 (3oreT)
3) o (éeH)
4) o (Aeperd)

A book always has...........
1) Chapters
2) Pages
3) Contents
4) Pictures

47. A U sv 7 # qoif (FeparR) 1 @A hder g2

1) 6
2) 7
3) 9
4) 10

How many number of squares in the given figure below?

1) 6
2) 7
3) 9
4) 10
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48. & QT v R T qRRYey gUUT B (Fidhe AR A T e

NA

(78]

)

fvi
1
i
v
i
5"‘

Choose the correct mirror image of figure given below

Mirrar

el
)

[0
&

49. JH 15 fAYH Qe FEAI3T T INeT (FA) Fhc=r gm?
1) 125
2) 225
3) 250
4) 300

What is the sum of first 15 odd natural numbers?
1) 125
2) 225
3) 250
4) 300

50. HEAT 1 H1 Al HAT §

1) T 3o
2) Teh 3Tadr sHred
3) Teh JQeTel EAT
4) Th AT QAT

The number 1 is,
1) A fraction
2) Arecurring decimal

3) A rational number
4) Anirrational number

51. “Starry Night” dATHe Jflcy U & RIFHR #1 ATH dd1v|

1) &Fde a1 Mg
2) deer Aewrar
3) foraref o1 &5
4) IEEd fFerAT
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Who painted the famous painting “Starry Night”?

1) Vincent van Gogh
2) Pablo Picasso
3) Leonardo da Vinci
4) Gustav Klimt

52. ‘FHAHABRY Tdh Yrdid chdcIsel Ufear 3T §, 3T oI fohd $IRAT o 7 918
ST 87

1) 3nfem
2) I

3) 3TYUcer
4) AR

‘Kalamkari’is an ancient textile painting art that finds its roots in the Indian State of :

1) Orissa

2) Kerala

3) Andhra Pradesh
4) Tamil Nadu

53. PR TGT o g FdT O a1 87

The Sardar Sarovar Dam is built on which river?

1) Narmada
2) Godavari
3) Ganga

4) Saraswati

54. GeM TRehicehe (TTAGT) SleT FITdT &7

1) dresf

2) SrE

3) Her (fasha)
4) Shdl (d13R)

Who generates contract on GeM?
1) PAO
2) DDO
3) Seller
4) Buyer
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55. YRd & fohd Iid F Jade a¥ ‘TfAT 3d8d AT ST g7
Y s
2) ARl
3) 3MTevcer
4) afAeeg

‘Flamingo’ festival is celebrated every year in which Indian State?

1) Manipur

2) Nagaland

3) Andhra Pradesh
4) Tamil Nadu

56. fa2[@ &7 S 3T 3T X (AR #H) Fgl TUd g2

1) e

2) g TH. T
3) .

4) STHeAT

The world’s largest data center (in terms of size) is situated in

1) China

2) USA

3) UK

4) Germany

57. ‘NCRP SEIRHICIRI Clari 5's’ &l fshdlicad &del dTell FUH HRAT S hiel §?
1) ¥ee d% 3w sf3ar
2) Yolld A%l s
3) oI S
4) 339 dF
Which is the first bank in India to implement ‘Clari 5’s NCRP Integration solution’?

1) State Bank of India
2) Punjab National Bank
3) Canara Bank

4) Indian Bank
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58. Tohd AT WX Aferad 3R Wegse AT AT &d 872

1) -40°
2) -60°
3) 30°
4) -10°
At what temperature Celsius and Fahrenheit give the equal reading?
1) -40°
2) -60°
3) 30°
4) -10°

59. 3MSRA (TRTRT) T geell fohaeh e &7

1) i@
2) HATEAYH ()

3) &I
4) I

Iris and pupil are the part of

1) Eyes
2) Brain
3) Heart
4) Ears

60. ‘NATO’ QG & dTd9d § -

1) A 3ARFT ST ARfAESRE
2) A 3nheReT ¢35 ARfAIeRT

3) A 3icdifen T RfATSArT
4) AF cdifcd 3 EfAEAAT

Term NATO stands for

1) North American Treaty Organisation
2) North African Trade Organisation

3) North Atlantic Treaty Organisation
4) North Atlantic Trade Organisation

61. ‘SCIICS M3 fAASA STIIHT TR’ (3S.5N.TH.EL.GY.) AT Heho[daTT fohEich GaRT &l
IS?

1) Sf g S amem

2) 3T U o egechend

3) BT SHIGIRT dg a1

4) 37 [a%d IRT A1S
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Integrated Guided Missile Development Program (IGMDP) was conceived by

1) Dr. Homil Bhabha

2) Dr. APJ Abdul Kalam

3) Dr. Jagdish Chandra Bose
4) Dr. Vikram Sarabhai

62. GTor (Pralay) EI:TJI%'
1) ¥dg ¥ §dg W AR & dlell fAAS
2) Adg ¥ g4l H AR Fla arell RS
3) wrtHh fAaEe
4) TH U ol fAasd
What is “Pralay” ?

1) A surface—to-surface missile
2) A surface-to-air missile

3) Antitank missile

4) A supersonic cruise missile

63. Nfeas, STENTHA qar gefeaw MA=faf@a # & fFe adg & msaRy (FFaa=F) §?

1) grsgiatel
2) oA
3) cEeHATH
4) s
Protium, Deuterium and Tritium are the isotopes of which of the following elements?
1) Hydrogen
2) Helium

3) Titanium
4) Uranium

64. FIS UTAT (Aratatel) T 3iGd JFuTaT (TasT o)) fora=T giar &7

1) 35 %o
2) 30 %o
3) 0.5 %o
4) 40 %o
What is average salinity of fresh water?
1) 35%o
2) 30%o
3) 0.5 %o
4) 40 %o
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65. ‘TSR OINTEE (F&THA) AT { HAeTd AR I Hiel AT 39T Ferfaet giarr &2
1) %S (FFTH)
2) 3Tl (SCHETS)
3) AEHAT (REErSeATaTE)
4) g% (s

Which part of the human body gets affected by ‘Tuberculosis’ disease?

1) Lungs

2) Intestine

3) Respiratory system
4) Kidney

66. RFEATIRT & A HieT FATUSET (HHed) @ Faey g &2

1) =T
2) el
3) AR
4) Solggdd

Which one among the following does not belong to mammals?

1) Rat

2) Seal

3) Shark

4) Blue Whale

67. AGSX Tohd T AT HY (FISelA) & Fafdd &2

1) 3ngfarEr

2) HATTHT

3) TREATE

4) PleleTer

Mosquito belongs to Phylum
1) Arthropoda
2) Mollusca

3) Echinotermata
4) Coelenterata

68. ‘ATSHAT ST 3T FeRrer e for@r g

1) ST AR

2) 3BT AT

3) o e

4) foReT qarg

Who wrote ‘Grandma’s Bag of Stories’?
1) Jhumpa Lahiri
2) Arundhati Roy

3) Sudha Murty
4) Kiran Desai
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69. AHAATATET H & Sl TIH T3 AGRALER (312 872

1) 3Tl ehHAGTENR

2) gerd (& The) AERR
3) ReAgarR

4) 3INfeCHAZTATIR

Which among the following is the largest Ocean?

1) Atlantic Ocean
2) Pacific Ocean
3) Indian Ocean
4) Arctic Ocean

70. ‘THITE 30 BRI ATHS ¥ THAS fohdehl HTTH T (JHTSSIgramd) g2
1) TS 3Sgelhers
2) TareAERTeTS
3) EFuT
4) helYdTdTdell
Famous book “ Wings of Fire’ is an Autobiography of

1) APJ Abdul Kalam
2) Vikram Sarabhai
3) P.T.Usha

4) Kalpna Chawla

71. AIRA FT gUHT Afger 3msded &SR S oA
1) foReT o1
2) & FeEr
3) It erepfct ATaTdTe
4) IR MTH
Who was the first female IPS officer in India?
1) Kiran Bedi
2) Hari Chandana

3) Durga Shakti Nagpal
4) Surabhi Gautam

72. ¥ 2028 F AT gl Tl 3eifUeh TWell T HSTHATT Pl AT G2 FIM?
1) HIHA ToT AR (FASCSHLT)
2) FaArses faarsH
3) STgTe
4) WA

Which country will host the 2028 Olympic game?
1) United States
2) United Kingdom
3) Japan
4) France
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73. ‘ATRAT AT 37 TR (ITORLA) T 917 A7 T ARAT a1 F 9§ 1999
2} & qAEuT: ¥ foma|

1) Fpasds & @T &

2) Haoh HET (MeEaETe)

3) RS & U &7

4) 9T o ARYTT drell FAAR

“Operation Vijay” was the name of the operation launched by Indian army in 1999 to recapture the

1) Lost territory in Aksai Chin
2) Golden Temple

3) Lost territory in Kargil

4) Pak occupied Kashmir

74. 3% H ARG & o ggalr qfFAed Mels ASeT vt Siar?

1) drdr Ry
2) ASREUTTTE

3) ARer@gsr
4) 3MfRIafeagr

Who won the first individual gold medal for India in the Olympics

1) PV Sindhyu

2)  Major Dhyan Chand
3) Neeraj Chopra

4)  Abhinav Bindra

75. TRW Hagsr favEs, 2025 fhE ger & i

1) A
2) IS
3) #ARd
4) AT
Who won the men’s 2025 Kapaddi World Cup.
1) Iran
2) England
3) India
4) China
76. @ TATaRoT fgaw forg o Aamr Sirar &2
1) 1097
N
2) 055
3) 02 3ispgsX
4) 22 3%



25

World Environment Dayis celebrated on:
1) 10lJune
2) 05 June
3) 02 October
4) 22 April

77. A AT HEAPR [HPR Tohd fawg-87 & faw fear smer g2
1) e
2) wifga™
3) gfia
4) gATSTHGT

Shanti SwaroopBhatnagar Prize is given in the field of:

1) Science

2) Literature

3) Music

4) Social Service

78. HATHIERY : ATHERT
1) < gafr

Carnivore: Herbivore.

1) Pigeon: Bird
2) Fish: Water
3) Flesh: Herbs
4) Horse: Goat

79. AAATIET H @ HieT Tk he Fiogaol [AeTfA (@@ gorehe Feride) @ g2
1) IR
2) ST
3) Hfeaured
4) YR

Which is NOT a fat soluble vitamin?

1) Carotene
2) Riboflavin
3) Calciferol
4) Tocoferol
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80. g5l HIeY Ten VAT f3argd & for@enr 39dter fohar Srar g

1) TTATIRONT 3TGdT & A & forw

2) S & IR eafa aan 1 AT g]
3) &Y & eydr Hi ST AR AT &
4) AE & gaTg B AT g

Hygrometer is a device that is used:

1) To measure atmospheric humidity

2) To measure the sound waves inside the water
3) To detect and measure purification of milk

4) To measure the pressure of gases

81. FHAATIRT # & TRHASH (FIFLTIRNA) HT ATH HAT gl ?
1) ugAfsan
2) eI
3) RAAST
4) SISUIAH
Which is NOT a name of constellation?

1) Orion

2) Pleiades
3) Milky way
4) Ursa Major

82. AT & ¥ AT T ITRYET quUT ToiEr 7E 2

1. TET (NASA)
2. JFPIIAT (ROSCOSMOS)
3. HITATHT (CNSA)
4. TIUSAINR3S(LLRI)
Which is NOT an International Space Agency?

1) NASA
2) ROSCOSMOS
3) CNSA
4) LLRI

83, ‘TIIAN AT, T T H oo, &1 3T & HROT gIar &2

EIENF.N

1) A (s)

2) FeRIZS

3) fAAARERT
4) w3¢T
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‘Blue Baby Syndrome’ is caused by excessive presence of -------------------- in drinking water.
1) Lead
2) Chloride
3) Methemoglobin
4) Nitrate

84. AT & @l &1 AhATH F T Sl 7 v JAfds Teie & ak W fFa #7ce
T 39rer fohar STar g2

1) g

2) el

3) STaTiRer

4) aeiorar

Which fish is used as biological agent for controlling mosquito larvae in water bodies?

1) Rohu

2) Catla

3) Dogfish
4) Gambusia

85. ‘FAT-3eTer & 39led & fov Aeaafaf@a & & fFa ol &1 39T foear arar g2
1) 3
2) SICIwr
3) ddTSIEAr
4) J[ITaTel

Which of the following plant can be used for the production of ‘bio-diesel’?

1) Mango
2) Jatropha
3) Belladona
4) Guggal

86. 377fehs : 3THRIET
1) HHSUAHNT : el (ther
2) forer (315IR) - T (aTem)

3) alls : BRRUSICHAHA

4) FHII (Fh) : ia
Orchid: Mango Tree

1) Sea anemone: Clown fish

2) Fig: Wasp

3) Fungi: Roots of higher plants
4) Cuckoo: Crow
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87. ST ShelACCIIRH (STol) A TrAUfAs &7 & fohdl 6T Thatd & fow 39dhr #
ST ST 82

1) feeaw

2) f3ghifar

3) WegRaw

4) TIRpelITad (ETel)

Bacillus Calmette-Guerin (BCG) vaccine primarily used against:

1) Tetanus

2) Diptheria

3) Pertussis

4) Tuberculosis (TB)

88. g fA=ITeT (FTATclTaM) & STeTeh & ®F H FT ST STaT &2

1) HTH
2) QiiHEfIEH (3HE)
3) ua'éga:
4) 3A%CC
Who is known as father of Biology?
1) Lamarck
2) Aristotle

3) Robert Hooke
4) Aryabhata

89. FF-ATATET & & &7 &1 9 e &7 # 9 S g2
ARICNERNUCIDEIEY
2) JgsHEI
3) HIHATTTSIATheT
4) gidge

In the Arctic Region, which of the following animal is found?

1) Polar bear

2) Leopard seal

3) Commerson’s Dolphin
4) Penguins

90. MTHITEIN T AGATOIT Fal FAA 82

1) AT
2) TSEIG
3) gor

4) feerelr
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Where is the Headquarter of CSIR situated?

1) Chennai

2) Chandigarh
3) Pune

4) Delhi

91. a¥ 2024 H A IHTRTIRAT (TheR) T AT WHEHR fohdfel Gt fapare

1) Rusraedr

2) JfAAHTTT
3) I

4) FASETSTIS

Who won the National Award for Best Actor in 20247

1) Rishab Shetty

2) Amitabh Bachchan
3) Allu Arjun

4) ManojBajpayee

92. IR H AT M feageTer 1 HEATOT wgl U &2
1) Agfeeren
2) gt
3) @lelehdl
4) Aetetg

Where is the Headquarter of National Green Tribunal Situated in India?

1) New Delhi
2) Bhopal

3) Kolkata
4) Chennai

93, ITSTHNR3N & THAUS HEHT Fid 87
1) TahAaRTTS
2) Sieteder
3) FARred
4) TH. HHATYT

Who is the founder of ISRO?

1) Vikram Sarabhai
2) Janet Petro

3) Satish Dhawan
4) S.Somnath
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94. T« { ar favE c’e AT e &2

1) IHRASTARTS]
2) IRAHSHT

Who is the youngest world chess champion?

1) GukeshDommaraju
2) Aron Mendes

3) Anish Sarkar

4) Magnus Carlsen

95. ST (HRC)dT Farad AR THATT (RATATer=131ars) 41 &2

1) HRARAT
2) geFIoT
3) YeHH

4) TegTasIeT

Which is the highest civilian award of the country (India)?

1) Bharat Ratna

2) Padma Bhushan
3) Padma Shri

4) Padma Vibhushan

96. Helh 3TSeis [T ‘Tol@T 3T HdFAGENS’ & ATH & i AT ST g, Fal e ?
1) e A Sl
2) & dehet fHET
3) ST
4) SfhaT 3MSlT

Snake Island also known as ‘llha da Queimada Grande’ is situated in:

1) Coast of Brazil
2) The Sunken City
3) Borneo

4) Baffin Island
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97. 31 & HAfgel AAFIRTT & A1H fSeagled R ey A Af3Ar Mfther 1 A |
1) el AT S Td a1 oAt Rar &g
2) @eiel FIfhAT FXEM va fda1 waATST GRS b
3) ot ol Ao v fder SHATST a ST &g
4) aeiol WhAT FXM va &1 waATST sfFAAT e

Two women officers who led media briefing on operation Sindoor:

1) Col. Sofia Quereshi and Wing Commander Riya Singh
2) Col. Sofia Quereshi and Wing Commander Vyomika Singh
3) Col. Lucy Giles and Wing Commander Vyomika Singh
4) Col. Sofia Quereshi and Wing Commander Bhumika Singh

98. F<El T HIhTeNel SHC AT GHAH & AH HAT §?

1) Ghegelcee
2) cfecata
3) cgifae

4) SAETeSCH

Which is the best-selling children’ book of all time?

1) The Catin the Hat
2) The Little Prince
3) The Hobbit

4) Northern Lights

99.TER (RADAR) T YUY #ATH (ol HId) &1 § ?
1) =T BeersT us ST
2) 34T 3fer f3eaere us ST
3) 3T f3eaere 3ifer ST
4) If34r 3ifer g us ISer

The full form of RADAR is:

1) Radio Detection and Ranging

2) Radio Auto Detection and Ranging
3) Radio Detection Auto Ranging

4) Radio Auto Defense and Ranging

100. NPTELE dTqud §?

1) AT WA 37T TheATellol offeial

2) U Yool B ChAlAS SoTATRIT TAfetdl
3) SIeUeTel WATH 1A CHhallaliol SoNfaAgRaT offeiar
4) AAAT YelTeT 3T Chaileliol offeTal
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NPTL stands for:

1) National Programme on Technology Learning

2) National Plan for Technology Engineering Learning

3) National Programme on Technology Engineering Learning
4) National Plan on Technology Learning

ENGLISH LANGUAGE AND COMPREHENSION

101-108: In the following questions, a sentence is divided into multiple segments. One of these
segments contains a grammatical error. Select the part with the error.

101. 1) Beware of
2) a fair weather friend who is neither
3) afriend in need
4) not a friend indeed

102. 1) Many a student
2) has failed in Mathematics
3) but Dinesh has scored
4) 100 percent

103. 1) Mohan is one of the friends
2) who always find
3) faults in Dinesh with
4) whatever he does.

104. 1) Some men are born great
2) some achieve greatness
3) and some had greatness
4) thrust on them.

105. 1) There are a number of reasons
2) I don’t like her
3) but her selfishness
4) is the prime factor

106. 1) She expressed her gratitudes
2) to all those
3) who had supported her
4) in her endeavors.

107. 1) The team was
2) now in the field and
3) about to take their position
4) to start the game

108. 1) | asked two persons
2) about the way to the station
3) but none of them
4) knew it.
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109-113: In the following questions, four alternatives are given for the idioms/phrases underlined in
the sentence. Choose the alternative which best expresses the meaning of idioms/phrases.

109.

110.

111.

112.

113.

It was Mr. Dinesh who put a spoke in my wheel.
1) Tried to cause on accident.

2) Helped in the execution of my plan.

3) Expedited the execution of my plan.

4) Obstructed the execution of my plan.

The HR team just told me that my promotion is on the cards.
1) due

2) evident

3) certain

4) probable

Mr. Ashish was his most trusted friend, but he proved to be a snake in the grass.
1) acoward and brutal person.
2) anunreliable person
3) ahidden enemy
4) alow and mean person

My boss clearly warned me that | can’t have my cake and eat it too.
1) enjoy forever
2) have something both ways
3) run away from responsibility
4) absolve myself of guilt

We should give a wide berth to a person with bad habits.
1) Give publicity to

2) Keep away from

3) Publicly condemn

4) Not sympathise with

114-118: Choose the correct synonym of the given word.

114.

115.

116.

CONCEDE
1) Assent
2) Dissent
3) Weaken
4) Rebel

DAINTY

1) Coarse
2) Insipid
3) Exquisite
4) Dull

DEPRIVE
1) Restore
2) Dispossess
3) Lament
4) Purify



117.

118.

119-123: Choose the correct antonym of the given word.

119.

120.

121.

122.

123.

34

ELUCIDATE

1) Distort

2) Expound
3) Conceal
4) Determine

EVIDENT
1) Obvious
2) Invisible
3) Vague
4) Intuitive

IMMINENT

1) Impending
2) Senile

3) Distant

4) Credible

JUDICIOUS

1) Thoughtful
2) Irrational
3) Calculated
4) Honest

NOVICE

1) Veteran

2) Apprentice
3) Wise

4) Modest

ORDAIN

1) Impose
2) Abolish
3) Initiate
4) Proclaim

RUSTIC

1) Pastoral
2) Uncivilised
3) Refined

4) Provincial

124-140: Fill in the blanks with the correct option.

124.

He could not
1) Elicit, illicit
2) licit, elicit
3) Elicit, elite
4) llicit, elite

any information from him about the

_sale of liquor.



125,

126.

127.

128.

129,

130.

131.

132.

133.
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summons served Mr. Dinesh.
1) The, were, to
2) A, was, on
3) A, was.To
4) The, were, on

The spectacles ____ of a fine quality. One pair of spectacles one thousand rupees.
1) s, costs

2) are, cost

3) s, cost

4) are, costs

| met Radhika last . She is growing and every month.
1) week, weak, weaker

2) week, weaker, weakest

3) week, weak, weakest

4) week, weaker, weaker

My friend’s had no on Shalini.
1) advice, affect
2) advise, affect
3) advice, effect
4) advise, effect

Mr. Madanisamanof __ moral. People have ___ trust on him.
1) lose, lost

2) loss, lose

3) loose, lost

4) lost, lose

America was by Columbus and Radio was by Marconi.
1) discovered, invented

2) invented, discovered

3) discovered, created

4) recovered, constructed

Mr. Ramesh is very weak Physics, but he is good __ other subjects.
1) at,at
2) in,in
3) in, at
4) at,in

He is cured his disease.
1) for

2) with

3) of

4) by

The girl burst tears.
1) into

2) out

3) of

4) with



134.

135.

136.

137.

138.

139.

140.

141-145: Sentences are given below in active/passive voice. Out of the four alternatives that are

36

Mr. Dinesh was accused
1) for
2) with
3) by
4) of

forgery.

India is richly endowed natural resources.
1) for
2) of
3) by
4) with
Each of these players been warned not to repeat such silly mistakes in future.
1) has
2) is
3) have
4) will

Many a student aware of the cost of absence from classes.
1) were

2) have
3) is
4) are

The principal and the chairman left the meeting before time.
1) have

2) has
3) was
4) would

The teachers along with their students going for the picnic.
1) is

2) was

3) are

4) will

Some of the grain _____ ruined by the flood.
1) was

2) were

3) are

4) have

suggested, select the ONE which best expresses the same sentence in passive/active voice.

141.

The walls had not been decorated by us.

1) We have not been decorating the walls.
2) We had not been decorating the walls.
3) We have not decorated the walls.

4) We had not decorated the walls.
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142. |shall have written the letter.
1) The letter will be written by me.
2) The letter has been written by me.
3) The letter is being written by me.
4) The letter will have been written by me.

143. We must endure what we cannot cure.
1) What we cure must be endured.
2) What cannot be cured my be endured.
3) What cannot cured must endured.
4) What could be cure must be endured.

144. A fresh batch of eggs was collected by the farmer’s wife.
1) The farmer’s wife was collecting a fresh batch of eggs.
2) The farmer’s wife collected a fresh batch of eggs.
3) The farmer’s wife had collected a fresh batch of eggs.
4) The farmer’s wife will be collecting a fresh batch of eggs.

145. Sunita was moved to tears at the sight of the miserable beggar.
1) The sight of the miserable beggar moved Sunita to tears.
2) The sight of the miserable beggar has moved Sunita to tears.
3) The sight of the miserable beggar moves Sunita to tears.
4) The sight of the miserable beggar had moved Sunita to tears.

146-150: Choose the correctly spelt word.

146. 1) Accommodate
2) Adress
3) Sufficiant
4) Restaurent

147. 1) Giberish
2) Genre
3) Aflict
4) Stittching

148. 1) Liason
2) Existence
3) Acess
4) Enterteinment

149. 1) Compulsorily
2) Adreneline
3) Carbohydrete
4) Exilarate

150. 1) Acquisce
2) Sanguine
3) Repeatative
4) Camoflage
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151-155: Choose the correct meaning of the following phrasal verbs.

151. Bear away
1) Lose
2) Win
3) Tolerate
4) Explode

152.To wipe out
1) To clean a surface
2) To completely destroy
3) Toinfluence an audience
4) To start a process.

153. Bring up
1) To raise a topic
2) To propose a trip
3) To delay an event
4) To lift something heavy

154.To lay off
1) To dismiss from work
2) To offer rewards
3) Todivulge a secret
4) To stop protecting

155.To run after
1) To pursue
2) To stop working
3) Tolose interest
4) To avoid meeting someone

156-160: Fill in the blank with the correct option.

156. They would often deceive the ___ workers due to their innocence.
1) Credible
2) Vociferous
3) Garrulous
4) Credulous

157.The young girl was so that she refused to listen to her parents.
1) Obdurate
2) Perverse
3) Evil
4) Volatile

158. A man was at the airport today for carrying illegal items.
1) Convicted
2) Retained
3) Detained
4) Accused
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159. The final years of her life are marked with in the face of adversity.
1) Resilience
2) Ecstasy
3) Balkiness
4) Pliant

160. He was so that it was impossible for him to keep a secret.
1) Reticent
2) Reserved
3) Garrulous
4) Fortuitous

161-170: Read the following passage carefully and answer the questions that follow:

Reading is one of the most important skills a person can develop. It not only provides knowledge but
also enhances imagination and creativity. A well-read person can understand the world better and
make informed decisions. Reading fiction helps in developing empathy as it allows us to experience
life through someone else’s perspective, while non-fictional writing builds awareness and critical
thinking.

In today’s digital world, reading habits are changing. People are increasingly shifting to screens
rather than printed books. While digital reading is convenient, studies have shown that reading from
paper improves comprehension and focus. Despite the fast pace of modern life, cultivating reading
habit remains essential. It shapes not only one’s intellect but also one’s character.

161. What is the main idea of the passage?
1) Readingis only for entertainment
2) Digital reading is better than print
3) Reading is important for personal and intellectual development.
4) Reading is outdated in modern times.

162. Which type of reading helps in developing empathy?
1) Technical reading
2) Fiction
3) Non-fiction
4) News articles.

163. According to the passage, non-fictional reading improves
1) Imagination
2) Humour
3) Critical thinking
4) Drawing skills

164. What has changed in modern reading habits?
1) People need more books
2) People prefer printed books
3) People are shifting to digital formats
4) People write more in paper form

165. What is said to improve comprehension and focus more effectively?
1) Audio books
2) Reading from paper-printed formats
3) Watching videos
4) Reading blogs
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166. According to the passage, why reading fiction is valuable?
1) Itimproves facts
2) Itimproves handwriting
3) It develops empathy
4) It helps learning math

167. What does the passage suggest about digital reading?
1) Itis harmful
2) Iltis better than books
3) Itis convenient but less effective
4) It improve memory

168. According to the passage, digital reading is .............
1) Cumbersome
2) Convenient
3) Character building
4) Very focused

169. According to the passage what kind of reading helps us make informed decision?
1) Digital reading
2) Blogreading
3) Newspaper reading
4) Readingin general

170. According to the passage what remains essential despite the fast pace of modern life?
1) Reading only digital formats
2) Reading newspapers
3) Reading only printed-books
4) Cultivating a reading habit

171-180: Choose the correct one-word substitute for the given group of words.

171. A professional soldier hired to serve in a foreign army.
1) Mercenary
2) Liquidator
3) Venal
4) Hireling

172. A person who abstains completely from alcoholic drinks.
1) Teetotaller
2) Derelict
3) Subjunctive
4) Incriminatory

173. The act of producing beautiful handwriting using a bush or a special pen.
1) Hieroglyphics
2) Calligraphy
3) Stenciling
4) Graphics

174. A person who pretends to be what he is not.
1) Imbiber
2) Impresario
3) Imitator
4) Imposter



175.

176

177.

178.

179.

180.
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A political leader who seeks support by appealing to popular desires and prejudices.
1) Dictator

2) Tyrant

3) Popularist

4) Demagogue

. Release of a prisoner from the jail (prison) on certain terms and conditions.

1) Parole
2) Parley
3) Paradone
4) Acquittal

Unfair advantages for members of one’s own family or fraternity.
1) Optimism

2) Plagiarism

3) Nepotism

4) Regionalism

A branch of science that specializes in the principles of classification of things or objects.
1) Taxidermy

2) Toxicology

3) Taxonomy

4) Classicology

The depository where state records and documents are preserved.
1) Museum

2) Library

3) Emporium

4) Archive

A place where birds are kept.
1) House

2) Aviary

3) Aquarium

4) Apiary

181-185: In the following questions, parts of a sentence are given in jumbled order. Rearrange these
parts which are labeled as A, B, C, and D to produce the correct sentence. Choose the proper
sequence.

181.

A. the average age at

B. to ear eyeglasses is

C. which people begin
D. decreasing day by day

1) ACBD
2) ABCD
3) BACD
4) ACDB
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182. A.they also planned
B. the museum and
C. to see the park
D. they wanted to visit

1) BDCA
2) BDAC
3) DBAC
4) DBCA

183. A. without any aid
B. there is no evidence
C. discovered the island
D. to show that he

1) ACDB
2) DBCA
3) BDAC
4) BDCA

184. A. the parents watched
B. the kids played
C. from the porch
D. in the yard and

1) BCAD
2) BDAC
3) ACDB
4) CDBA

185. A.to comply to my orders
B. you can give me
C. is there a reason
D. for your failure

1) CBDA
2) CBAD
3) BCDA
4) BDCA

186-195: Choose the correct meaning of the given idiom.

186. Oncein a blue moon
1) Arare occurrence
2) A common occurrence
3) Afortnightly event
4) Asolar event

187. To bury the hatchet
1) To settle a dispute
2) To command respect
3) To proceed without caution
4) To sow discord
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188. Athorninone’s side
1) A pleasant situation
2) A persistent annoyance
3) An unwanted visitor
4) An unexpected calamity

189. Let the cat out of the bag
1) Reveal a secret
2) Release a pet
3) Uncover a proposed plan
4) Convolute an argument

190. Beating around the bush
1) To make a situation worse
2) To work at odd hours
3) To waste time
4) To avoid answering a question directly

191. Under the weather
1) To Feel sick
2) To be very happy
3) To be confused
4) To be depressed

192. Burning the midnight oil
1) Wasting electricity
2) To work late into the night
3) To hide a secret
4) To compound a problem

193. A penny for your thoughts
1) Asking for someone’s thoughts
2) Offering a penny to someone
3) Enquiring about someone’s financial situation
4) Providing financial help to someone.

194. Breakaleg
1) To beinjured
2) To encourage someone to perform well
3) Todance
4) To wish someone good luck

195. Walking on eggshells
1) Proceeding with caution
2) Taking a relaxing stroll
3) To behave irresponsibly
4) To make a lot of noise
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196-200: In the following questions, a sentence has been given in direct/reported speech. Choose the
option that correctly expresses the sentence in reported/direct speech.

196. “l am going to the event, “ Rema said.
1) Rema said that she was going to the event.
2) Rema said to go to the event.
3) Rema declared that she is going to the event.
4) Rema said that she will go to the event.

197. She said to me, “When | met her, she was playing”.
1) She told me that when she had met her, she had been playing.
2) She told me that when she meets her, she will be playing.
3) She told me that when | would meet her, she would be playing.
4) She told me that when | met her, she had been playing.

198. She said, “ | must leave at once.”
1) She said that she must leave at once.
2) She said that she had to leave at once.
3) She said she have to leave at once.
4) She said she has to leave at once.

199. Mother said to me, “Take the umbrella with you.”
1) Mother advised me to take the umbrella with me.
2) Mother told me to have taken the umbrella with me.
3) Mother said to me to please take the umbrella.
4) Mother said to me that | should take the umbrella.

200. Simon said, “How clever | am!”
1) Simon cried that he was very clever.
2) Simon exclaimed that he was very clever.
3) Simon told that he is very clever.
4) Simon asked if he was clever.

* % % ok ok k ok
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25, 3 75. 3 125. 2 175. 4
26. 4 76. 2 126. 4 176. 1
27. 2 77. 1 127. 4 177. 3
28. 3 78. 3 128. 3 178. 3
29. 4 79. 2 129. 3 179. 4
30. 4 80. 1 130. 1 180. 2
31. 3 81. 3 131. 3 181. 1
32. 1 82. 4 132. 3 182. 3
33, 1 83. 4 133. 1 183. 4
34, 2 84. 4 134, 4 184. 2
35. 4 85. 2 135. 4 185. 1
36. 4 86. 1 136. 1 186. 1
37. 3 87. 4 137. 3 187. 1
38. 4 38. 2 138. 1 188. 2
39. 2 89. 1 139. 3 189. 1
40. 2 90. 4 140, 1 190. 4
41, 1 91. 1 141. 4 191. 1
42, 3 92. 1 142, 4 192. 2
43, 2 93. 1 143, 2 193. 1
44, 3 94. 1 144, 2 194, 4
45, 3 95, 1 145, 1 195. 1
46. 2 96. 1 146. 1 196. 1
47. 3 97. 2 147. 2 197. 1
48. 1 98. 2 148. 2 198. 2
49, 2 99. 1 149. 1 199. 1
50. 4 100. 1 150. 2 200. 2




